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Topic:- Grad_Nutrition and Health

1) Incubation period of influenza range from:/S-UIUS ®I ITga- 3afd
GEgaTH difvas) o1 g &

1.1-2 days/1-2 faq

2.1-7 days/1-7%:f

3. 4-9 days/4-9 fa=1

4.9-15 days/9-15 &=

Correct Answer :-

. 1-7 days/1-7f&A

2) Breast feeding is not given when:/ qﬁ_ﬁﬁ?ﬂﬂﬂﬁm%

1. A mother suffers from chronic illness/ WWE&WW@W@

2. Another pregnancy intervenes during Iactation/W%ﬁﬂ?ﬂﬁTgﬁ: madt 81 9

3. Breast milk has completely stopped or is insufficient for the chiId/ﬁW Q%IERTHTG’
$% gHI1 gl 91 93 & QST gl

4. All of the above/t{q?iaﬁ Tt

Correct Answer :-

« All of the above/t{q?iaﬁ gt

3) A substance needed by the body for growth, energy, repair and

maintenance is called:/ q@, wﬁ,mmw%ﬁEWaﬁmwﬁaﬁ
ATIY T gl B 98 8:

1. Protein/ WIdH



2. Vitamin/ fderfi=
3. Carbohydrate/ ®TSIEIESC

4, Fat/ 941

Correct Answer :-

« Protein/ WA

4) Ideal body weight of an Indian reference man and woman respectively

are:/ WWﬁWEWWWWWM%
1. 70 kg and 60 kg/70 f&u Td 60 faoam
2. 60 kg and 55 kg/60 U1 Td 55 foban
3. 50 kg and 45 kg/50 f&U1 Td 45 fn
4. 45 kg and 40 kg/4s5 fooum wd 40 foean

Correct Answer :-

« 60 kg and 55 kg/60 f&u1 ©d 55 fum

5) Life cycle of Red Blood Cells is of:/ @Td Iad SBT3 BT Sfta T P gl

1. 90 days/90 fad
2.110 days/110 a7
3.120 days/120 fad

4. 135 days/135 faq

Correct Answer :-
« 120 days/lzoﬁ_"l

6) Maternal Mortality Rate is expressed as:/ U] §J &3 B! & TUH o
foma wITe @:

1. Number of pregnant women dying per 100 of pregnancies/ ufd 100 THTTRIS TR Mt
afgarsll &1 gg &t G-l

2. Number of pregnant women dying per 1000 of pregnancies/ ufd 1000 THTTRIS TR
miad gfgarst & gg &1 Ie

3. Number of pregnant women dying per 10,000 of pregnancies/ fd 10,000 YGRS TR
miad afgarst & gg & I



4. Number of pregnant women dying per 100,000 of pregnancies/ ufd 1,00,000 TR
R miadt Afgans & gg &1 J=m

Correct Answer :-

« Number of pregnant women dying per 100,000 of pregnancies/ Ufd 1,00,000 TGRS
R Mot Afeenst & gg & Se

7) In a balanced diet the percentage of total calories obtained from
carbohydrates should be between:/ Tftd 3R & HIEMASE | UK $d bRl BT
wferra & o9 g afgul

1. 40-50%
2. 60-70%
3. 80-90%
4. 90-100%

Correct Answer :-

« 60-70%

8) International women'’s day is celebrated on:/ 3=RIgIg ufgen faaw Gl
AT 74T 3:

1. 6th of March/6 ATd
2. 8th of March/ 8 A
3. 10th of March/10 #Td

4. 15th of March/15 \Td

Correct Answer :-

. 8th of March/ 8 ATE

9) What diseases are regularly tested for even during a normal pregnancy?/

TATHTY THTTRIT & SRT fop=1 A & ferg Frrafira wira &t st 82
1. AIDS/ UsH
2. Hepatitis B/ gUCI3[cH B

3. Down's syndrome/ 331 RigH
4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad g+t



10) According to ICMR 2010 additional protein required for an expectant

mother is-/ ICMR 2010 & AR THad} afgar & fore smavas sifafyad M Y arm &-
1. 10.5g/10.5 1.

2.15.25 g/15.25 7.

3. 20.49/20.4 7.

4. 27.2 g/27.2 7.

Correct Answer :-

e« 27.2g/27.27UIL

11) Which of the following decreased in human body during Dengue fever?/

ST TUR & R 919d IRR & 3979 A FIT U o141 82
1. Platelets/ Ufe&hIY] (Wceid)

2. Hemoglobin/ﬁ"?ﬁﬁ?

3. RBC

4, Sugar/ RaddhR

Correct Answer :-

. Platelets/ Ufg®IU] (Wcdc)

12) Objective of National Rural Health Mission (NRHM) is to provide:/?T@'lT
yrHfior TR R (NRHM) $T 324 ST BT 8:

1. To provide quality health care to the rural population/ WW@W
ARy

2. To provide affordable health care to the rural population/ U SFRIRET &1 fhHrdt
AR

3. To provide health care Facilities to especially the vulnerable groups/ fa?% U ¥

SRRFEIT TG &) W ST gy
4. All of the above/ Iudad Jaft

Correct Answer :-

« All of the above/?q?iaﬂﬂﬂ-ﬁ

13) Diarrheal diseases, measles and respiratory and other infections resuit

in:/ & 9 JWRId I, TIRT 3R 491 U 39 HHHUT & YRUTHA: BT 8:



1. Positive protein and Energy balance/ TS U T Sl qga-
2. Negative protein and Energy balance/ BUITE® WICH @ Soll Sdad

3. Equal protein and Energy balance/ THE WA 9 Sl e

4. None of the above/ SRIgd & 9 or>\|$r=|€f

Correct Answer :-

« Negative protein and Energy balance/ FHUTHD W d ol LG

14) Which among the following is not a bacterial disease?/ Eﬁﬁﬂ'ﬁ?t{iﬁ

SHarurer= 7 781 82

1. Diphtheria/ fewiifar

2. AIDS/ USH

3. Whooping cough/ CAIREIRs
4. Cholera / ol

Correct Answer :-

. AIDS/ U™

15) Nutritional anaemia prophylaxis programme launched by the
Government of India in the Year:/ HRd IXPHIR GRT TIYUT TN Iqareqdr INTRIY
FrdpU gy H Ry far war o

1. 1970
2.1972
3. 1980

4. 1982

Correct Answer :-
« 1970

16) Many women have some nausea or vomiting, or "morning sickness,"
particularly during:/ ®3 Afgarsii & U<t Igers g1 Iafeqd, a1 "Aif~1T R gidl g,
o fRy Fud .. FERETN B

1. The first month of pregnancy/ YR & Ugd HeA
2. The 1- 3 months of pregnancy/ TR & 1-3 7EH
3. The 4 -6 months of pregnancy/ THTGRIT & 4-6 He
4. The 6-9 months of pregnancy/ TYTTRIT & 6-9 A



Correct Answer :-

« The 1- 3 months of pregnancy/ TYEGRIT & 1-3 HeH

17) According to ICMR 2010 amount of Kcal required by children 1-3 year age
group per day is:/ ICMR 2010 & 39 1-3 98 3T ¥ & Tl Bt UlafeT maza® foat
FART 8:

1. 2100 kcal/2100 far Har
2. 1800 kcal/ 1800 fra et
3. 1690 kcal/1690 fordll HaR!
4. 1060 kcal/1060 faral HarR!

Correct Answer :-

« 1060 kcal/1060 foral B!

18) Tuberculosis (TB) is an infectious disease caused by the bacterium:/

RPN () TP Ysbras I { &Y TP ST GRT BT &
1. Mycobacterium tuberculosis / ARIBIGTRTH SERG AT

2. Mycobacterium marinum/ AT Ida gy ARkay

3. Mycobacterium fortuitum/ W@Tﬁﬁ'ﬂﬁqﬁﬂ'ﬁﬂ

4. Mycobacterium chelonae/ ARG IS RTH T

Correct Answer :-

. Mycobacterium tuberculosis / HTIH IS RTH SIERG NI

19) “Triple Antigen Vaccine” given to the infants for the prevention of:/

Tard fRiggei @ ... $ AHUry F g «feua tde= dwi= o wrar 21
1. Polio, Diphtheria and Tetanus/ Tifera, fswifear ik feera
2. Diphtheria, Whooping cough and Tetanus/ fewitfen, W“@Iﬁ, 3R feeTg

3. Tetanus, Tuberculosis and Polio/ fee-9, cqeRG AR 3R Tiferat

4. Diphtheria, Typhoid and Tetanus/ i, ewigs 3R feey

Correct Answer :-

. Diphtheria, Whooping cough and Tetanus/ fSuifear, @Telt @i, 3k feemg

20)



Waist to hip ratio is an indicator of:/ Wﬁﬁmmm,_mﬁm%:
1. Pallegra/ I

2. Obesity/ﬂﬂETQT

3. Nail growth/?l’@?ﬁaﬁq@

4. Visibility/ 2gdr

Correct Answer :-

« Obesity/ HiemT

21) Which of the following cannot be included in the diet of pregnant

woman?/ ﬂmm%mﬁﬁﬁ@ﬁmﬁﬂﬁmmmﬁ?
1. Fruits and Vegetables/ %d d Tfesdi

2. Milk and Milk products/ g4 d g¥ & 3d1q

3. Alcohol and smoking/ Tebigd 3R YHUT

4. Cereals and pulses/ 3T 9 arad

Correct Answer :-

« Alcohol and smoking/ Qﬁlﬁ%ﬂx’:ﬁ?w

22) The five food group system can be used by the health professionals for
the following purposes:/ ﬁmmmﬁﬁwﬁaﬁaﬁmwmﬁmwm
P IUGNT fomaT oI 9T &

1. Tools for nutritional counseling/ YT graell URTHR & Iq1eE
2. Food labeling and surveillance system/ HIst el ot dafelt wd fAvRi a0

3. Explaining therapeutic diet to the patient/ Il &1 IUARTHD HTER JHH
4. All of the above/ B“Cl?iaﬂ“ﬂ‘l-ﬁ

Correct Answer :-

« All of the above/ Iujad Tt

23) Which of the following is a essential amino acid?/ T8 q P9 U AaYH
S et 32

1. Alanine/ TaT=HA
2. Aspartic Acid/ TEfé® 3w
3. Glutamic Acid/ TCTiH® 3T



4. Lysine/ QAR

Correct Answer :-

« Lysine/ AR

24) Which of the following is responsible for measles?/ W%mﬁﬁﬁﬁq
STRGIAY 82

1. Bacteria/ SfIdTq]

2. Virus/ fasmog
3. Algae/ a1

4. Fungi/ ®d&

Correct Answer :-

e Virus/ ﬁﬂT@

25) Which of the following vitamin can be synthesizing in the body?/ 8 4
PI-97 faerfi IRR # xafya g a@ar 32

1. Vitamin A/ faeif®= A
2. Vitamin C/ fgerfim ¢
3. Vitamin D/ faeifA D
4. Vitamin E/ facifiq E

Correct Answer :-

« Vitamin D/ fderf@@ b

26) PEM in pregnant and lactating women can affect the:/ THad} 3R w=ur=a
T &) afgensi d PEM P gUTFaT R THdT &:

1. Growth of fetus/ TR Ry &1 IS

2. Nutritional status of fetus/ meaﬂﬁw@ﬁ
3. Survival rate of the fetus/ UW@T{[%WBW@HTR
4. All of the above/ ITdad waft

Correct Answer :-

« All of the above/B’q?iaﬂH?-ﬁ



Poorly controlled diabetes during pregnancy increases the risk of:/ THIaRAT &
SR W19 & § Faf~a ayis P SNfRH TeT S 3

1. Preeclampsia/ WUIRTAT (8T8 &S URR + §1Y-Uld | Yo + I H UicH)
2. Early delivery/ 99 ¥ Ugd u9a

3. Cesarean birth/dtIRa= &

4. All of the above/ Ecrﬁaamﬁ

Correct Answer :-

« All of the above/B'q'?iaﬂ‘le-ﬁ

28) Signs of infection of the umbilical cord includes:/ ATRRS ATYAT) & THHUT
& Tobal o =mFa 3

1. Base appears red or swollen/ 3TUR T <le] AT oIl g 31T faRgT

2. Continues to bleed /Wﬁfﬂﬁ Nl

3. Oozes yellowish or white pus/ dian a1 gt qarg Haba

4. All of the above/ ITdad waft

Correct Answer :-

« All of the above/B’q?iaﬂHlﬁ

29) The Kala azar Control Programme was launched in year:/ &Tdl 3[R

fauederad | o smwygeman:
1. 1980-81

2.1990-91

3.2000-01

4. 2006-11

Correct Answer :-

« 1990-91

30) Which deficiency disease has been called the disease of the three D's?/

o =T A7 &Y = p's BT AT HT AT B2
1. Scurvy/ ¥Hdf

2. Beri-beri/ sRi-a3

3. PeIIagra/ﬁFIT‘JIT



4. Rickets/ RarcH

Correct Answer :-

. PeIIagra/ﬁFIT‘JIT

31) Protein deficiency may cause:/ AT &t HH A ﬁm%
1. Cough/ @rdt

2. Burn/ ST

3. Muscle Wasting/ﬂi’ﬁ &g

4. Irritation/ SIS (STaH-+goTel)

Correct Answer :-

« Muscle wasting/ U e

32) The appropriate age range to conceive without risks for undesirable

outcomes is:/ 3AS-a ufvomat & sfEwt & foamm mutura w39 3 Sugad Mg ¥ 3:
1. 17-30 years/17-30 9%
2. 20-35 years/20-35?ﬂf
3. 25- 40 years/25-40 4

4. 25- 50 years/25-50?ﬂf

Correct Answer :-

« 20-35 years/20-35?ﬂf

33) In a child suffering from marasmus, which of the following clinical

manifestation is observed?/ ARTEH ¥ Uifsd 9= & 549 A HI9-IT AT&10% Udbed
fearg dar @2

1. Subnormal Temperature/ I ¥ HH dI9AH
2. Dehydration/ IEENIERUI

3. Watery Diarrhoea/ T oY o

4. All of the above/ ITdad Wit

Correct Answer :-

« All of the above/B’q?iaﬂH?-ﬁ



The first dose of vitamin A administered at 9 months of age, along with

measles vaccine is:/ 9 HATg B 3T TR TR B IR & 1Y 3t 718 faef¥e A 3t ugeht
RIS gt 8-

1. 100,000 IU
2.1,000 IV
3. 200,000 IU

4. 300,00 IU

Correct Answer :-

- 100,000 IU

35) The process by which an individual's immune system becomes fortified against an agent is
known as:/ 98 Ufshal, s g1 aafdt &1 uferem o, fHft wole & fovs eRFa gl wraT @,
AT 3:

1. Nutrition/ TTSOT
2. Immunization/ UfaReffemur

3. Inoculation/ TR (FAIHaIRM)
4. Malnutrition/ Ul

Correct Answer :-

« Immunization/ Ufreffmor

36) Revised Nutritional Norms in ICDS (since February, 2009) the energy and
protein should be given to the pregnant women and lactating mothers are:/

1CDS ¥ T=NfYa drwor Tia=ft areust (wRas! 2000 |) & AR, Mfadt afgersy iz
U B0 78! Afgenait #Y & 9 arelt Soif W A P AT HHT: | g =gl

1. Energy 200 kcal and protein10-12g /200W 3R 10-12 ITH
2. Energy 400 kcal and protein10-12g /400 frAiFaRt 3R 10-12 U
3. Energy 600 kcal and protein18-20 g /6OOW 3R 18-20 ITH

4. Energy 900 kcal and protein 20-25 g /900%%@@?20—25%

Correct Answer :-

. Energy 600 kcal and protein18-20 g /600 fFaibaRt 3R 18-20 UH

37) Which among the following is a full form of BCG:/ BCGT:F[QRTT-ITHEﬁﬁ
PI-9T 32

1. Bacillus Clostridium Gonadism/ aﬁlﬂﬂa@@m MAfeeH



2. Bacteria Cholera Guerin/ ST BIeRT TTuRA
3. Bacillus Calmette Guerin/ SR &1 URA
4. Bactria Calmette Gonadism/ a@m?ﬂﬁ?ﬂ Bl

Correct Answer :-

« Bacillus Calmette Guerin/ aRTeRI dTHc TURA

38) Disease protected by vaccination under Universal Immunization

Programme is/ are:/ mmmw&mmm/mﬁﬁ
e fear g ag 2d B

1. Diphtheria/ fewitfear
2. Polio/ oiferay
3. Tuberculosis/ &3 IT (CTSRG AR

4. All the above/ SUR & gHt

Correct Answer :-

« All the above/ W & TH

39) At the National level, the NRHM has a Mission Steering Group (MSG)
headed by the: /WWWNRHMmeH%m o agE (Mse) gar & s

e B &
1. Union Minister for Health & Family Welfare/ %<9 W4 U4 URAR Hegro {7

2. Union Secretary for Health & Family Welfare/ %<9 W4 T4 URAR Hed10l g
3. Both of the above/ SWRId gl
4. None of the above/ C{Qﬁaﬂﬁﬁﬁ%ﬂ’tﬁ

Correct Answer :-
« Union Minister for Health & Family Welfare/ %<9 T4 T4 URAR Hegro {7

40) plays an important role in deciding nutritional status./ TIYU[ &}

Rfte PuRkusad_ ue Aeayol yfirer Frurdar 2
1. Socio-economic status/ graTfore-3nfdfe fRufa

2. Beauty/ gexdl

3. Clothes/ ®U3

4. Sleeping pattern/ Hig &1 O



Correct Answer :-

« Socio-economic status/ graTiore-3Mfie fRufa

41) Which of the following adverse effects associated with the fetus when
mother use drugs during pregnancy?/ HTdT gRT THTGRIT & QR AP YTl o1
ST fpE o wR M R & a1y 3996 9§ -8 ufaed yuTe s 8 9@d 82

1. Pre-term birth/ TH3-gd o

2. Undersized head and body/ RR @ TRR &7 TSR IHA F &HH §IHT
3. Physical malformations/ RIRIRe® fdpfci

4. All of the above/ ijaamﬁ

Correct Answer :-

« All of the above/B'CPjaﬁﬂﬂ-ﬁ

42) Kwashiorkor is caused due to deficiency of:/ FTRRPIR P HH & HRUT

BT &:

1. Protein-energy/ TA-So
2. Calcium/ dfea|

3. Iron/ 3TRA

4. Thiamine/ I

Correct Answer :-

« Protein-energy/ WicH-3&d

43) The National Rural Health Mission (NRHM) was launched by the Hon’ble
Prime Minister on:/ TP UTHIUN WA fHTF (NRHM) 6T 3™ AT TUT=HA]
SRT__ Y fosar wmam Ml

1. 12th April 2005/12 30, 2005
2. 14th April 2005/14 3@, 2005
3. 12th April 2006/12 3, 2006

4. 14th April 2006/14 3Ud, 2006

Correct Answer :-

. 12th April 2005/12 3/0d, 2005



44) ICDS comprises:/ ICDS B3 &I fyaTeR ga1 &:

1. Aganwadi Workers, Helpers and Supervisor/ 3HaTS! ST 1, GgTI® Td Tddeid
2. Child Development Project Officers (CDPQO’s)/ T f[aH T gRAoHT IR (CDPO)
3. District Programme Officer (DPQO’s)/ e wrieH e (DPO)

4. All of the above/ ITdad waft

Correct Answer :-

« All of the above/?q?iaﬂﬂﬂ-ﬁ

45) Each gram of hemoglobin contains about: /SHAAIIT & UAS ATH A TRIHAT

___®argl

1. 6.34 mg of iron/6.34 T 3TRA
2. 4.25 mg of iron/4.25 IR 3mRA
3. 3.34 mg of iron/3.34 fiR3r 3maA

4. 2.24 mgq of iron/2.24 firr M=

Correct Answer :-

« 3.34 mg of iron/3.34 fBRIT 3MORA

46) The ideal body weight of a full term infant at the time of birth should

be:/ 97 & JHY YuicTie Faurd R F WR ST MG YR g1 T1fee:
1. 2.2 kg/2.2 foun
2. 3.2 kg/3.2 foom
3.4.2 kg/4.2 fomn
4.5.2 kg/5.2 fou

Correct Answer :-

. 3.2 kg/3.2 T

47) The major nutritional deficiency sign among preschool children is/are:

wd-faremerdt =t § ey wrawft gAar 1/ YT e e
1. Protein Energy malnutrition/ Wﬁﬁw

2. Vitamin A Deficiency/ facifi= A & &4t

3. Vitamin B complex/ faeIfi B Bircag

4. All of the above/ ITdad waft



Correct Answer :-

« All of the above/B'q'ﬁaﬂ“vTﬂ-ﬁ

48) Bo%ster doses of which vaccine given orally:/ {7 &I $t T TS g@ A
&1 et 82

1. Hepatitis- B/ 8UcIsicd- B
2. DPT

3. Tetanus/ fee

4. Polio/ Tiferal

Correct Answer :-

« Polio/ oifery

49) Which programme is not covered under the ICDS Scheme?/ ICDS TS &

Sefd PIF-A1 STdHH 8T T 82

1. Supplementary Nutrition/ Wtﬁw

2. Pre-school non-formal education/ ﬁwuﬁ 3T Rieror
3. Nutrition & health education/ UINU Td &Ry fRrefm

4. World Health organization/ fd% =g I6=

Correct Answer :-

« World Health organization/ fd% =g Iia=

50) Rich source of vitamin D is:/ ferf¥ p &1 99 w4 3:
1. Cod liver oil/ ASd! &1 dd (His [eaR 3Higd)

2. Cabbage/ gt

3. Cereals/ 39

4. Pulses/ qId

Correct Answer :-

« Cod liver oil/ AT &1 dd (P18 fereR 3figad)

51) Pneumonia is usually caused by the infection of:/ qmﬁmqmwa:
& THHUT GIRT i o:



1. Viruses/ fauTy]

2. Bacteria/ SidTq]
3. Both of the above/ IR gl

4. None of the above/ SRIgd & 9 or>\|$r=|€f

Correct Answer :-

« Both of the above/ RERESEAR

52) Which of the following is not transmitted by mosquitoes?/ Eﬁ'ﬁﬁq
H=3R) GIRT WA &l el 22

1. Filaria/ tb‘l%ﬁf\“ﬂ

2. Japanese Encephalitis/ ST SRt arsiey

3. Malaria/ HaRar

4. Kala-azar/ &Tdl-3GllR

Correct Answer :-

o Kala-azar/ ®Idl-3WR

53) A mineral that the body needed for proper growth and development of

gones is:/ T @i+ ot IR &t 3l &) 3fua gfS ok faewra & fore smazawar gidt

1. Sodium/ TifeaH
2. Potassium/ UreiREH

3. Iron / 3RRA
4. Calcium/ o™

Correct Answer :-

. Calcium/ ferrg

54) Which of the following is a disaccharide?/ Eﬁﬁﬁqwm%‘?
1. Lactose/ Q@IS

2. Glucose/ ‘?Eﬁ?r[

3. Galactose/ ?laoraw &borc?l\,rl

4. Fructose/ EIEEPIT;[




Correct Answer :-

. Lactose/ ddcis

55) Diet of PEM child should contains:/ PEM U 9= & 38R & BT a1feu:
1. High calorie/ &aRt 3ifte

2. High protein/ T¢I 3ifeie

3. Both of the above/ JWRIad Gl

4. Low protein/ U= &H

Correct Answer :-

o Both of the above/ IR gl

Topic:- Grad_General Knowledge and Logical Ability

1) What is a slide-title master pair?/ TIg8-elgcd HRE U3 FIT 2

1. The title area and text area of a specific slide / T& faRy wrss &1 2fide &7 ik urs
&

2. A slide master and title master merged into a single slide / T W5S AR 3R MH
AR &1 Th W5e | T/

3. A slide master and title master for a specific design template / a1y f&sme cwae
¥ iU TP W8S AReR SR ¥ive ARex

4. All of above / Iuad i

Correct Answer :-

« A slide master and title master for a specific design template / fafRy f&sgd ¢meie
¥ iU TP W8S AReR 3R e ARex

2) Which of the following is not included in the term ‘workplace’ under the
Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013? / TiZaTsil &1 Frdesa u< S Iedtew (Fareor, it i gfaam)
sfereaw, 2013 F siaviq U ‘FEeIA § FF § & 97 AT 81 872

1. Dwelling-house/ smETEg

2. Sports-complex / @@ "5
3. Both of the above / 39i<F =1

4. None of these / 4% & FIE 71

Correct Answer :-



« None of these / 5% & #T$ &

3) DIRECTIONS: Which of the given answer figure will be the correct mirror

image? / fd=m: mﬁﬁﬁ?ﬁwmﬁﬂuﬂmﬁwmmﬁ?
Question Figure: /g9 Jrpfa:

&

Answer Figures: | 3eae ai'l'fﬁ'-ﬂT
Re) | B Gl

A B Cc D

1L.A
2.B
3.C

4.D

Correct Answer :-
e« A

4) The urine samples of diabetic patients contain:/ q'ﬂﬁ? IR T & el ¥ frge d9ua
ferar e

1. Sucrose/ W

2. Glucose/ W
3. Lactose/ AIdeIg

4. Maltose/ HTeer

Correct Answer :-

e Glucose/ W

5) Raman can do a work in 27 days. Raman and Suraj together can do the
same work in 18 days. If they are paid Rs.12,000 for a piece of work, then
what will be the share of Suraj (in Rs.)?/ Y0 U% &1 &I 27 fel § RT & IHhal
B 1 39 3R IR TP A1 e 39 10 &1 18 fa # T w7 9d g1 afe 3 v et o
& fIU .12, 000 U4 &, A IR &7 fawan (&. H) ;= ghm?

1. 4000
2. 2000



3. 6000
4. 5000

Correct Answer :-

« 4000

6) In IPv6 addresses, addresses start with eight Os are called / GHEFW 6 Ud
#, 316 0 A Y= BIF a1d Ud Hgard 8

1. Unicast addresses /3Rfgrd Id
2. Multicast addresses / AfecdRe Ud
3. Anycast addresses / Anycast Id

4. Reserved addresses / JRfard Td

Correct Answer :-

« Reserved addresses / W&Iﬁ Td

7) DIRECTIONS: In question given below, there are two statements followed
by two conclusions numbered I and II. You have to take the given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts./fFId: R fRu Me U= & & $Y7 3R ITF a1¢ & frepd 1 3R 11 feg e &1
MUY faE MY ST U= B I AT & YA &) 9 Jdgrd aat I =1 udia g1a &t 1 9+
foremut @ ufee e g Fifve fo few e et & @ S -a1 foreed fag e Hy= &1
THHI U I SRV BT &, qTe FagTd a2 $o W gl

Statements: /PY:

Some engineers are teachers/$9 G-Ff\‘l-l'q'_vIT, arww%

Some teachers are efficient/Po JHTUD, !ﬂw%

Conclusions: /o

I. Some engineers are efficient/ $© UG TG &

II. All efficient are engineers/d¥ g, 3rfya=T &

1. If only conclusion I follows /ﬂﬁ%ﬁﬁ'@'ﬁl WW%

2. If only conclusion II foIIows/qﬁWﬁEh‘Gf II &IT-ETUTW%

3. If either conclusion I or II folIows/H%qT?ﬁﬁﬁb_ﬁf 19111 HWW%

4. If neither conclusion I nor II follows /Elﬁ:f?ﬁﬁ'@'ﬁf 198l &WW%

Correct Answer :-



. If neither conclusion I nor II follows /3¢ 1 @l Fspe 1 9 €} 11 SIERUI FHRal §
8) Chromosomes are related with?/A[UIRTA TrEfYd gid 32

1. Respiration/ g g

2. Reproduction/ Usl—- |

3. Transmission of hereditary character/GIﬂaTW ﬂUﬁ & YR A

4. Digestion/ UTd |

Correct Answer :-
 Transmission of hereditary character/ WT&W {IUﬁ & RIHIAR Y

9) Pointing to a lady in the photograph, Shaloo said, “Her son’s father is the
son-in-law of my mother.” How is Shaloo,related to the lady?/ ddR # t&

ATt A 3R SR HIA §Y AT A Bl “IHP T BT Fdr 9 | &1 g6 7| e 39
ufgar @ foa yor awEfiE 32

1. Aunt/3Tt
2. Sister/dg-

3. Mother/IITw
4. Cousin/@ o

Correct Answer :-
« Sister/dgd

10) A bag contains one-rupee, 50-paise and 25-paise coins in the ratio of 5:
6: 8 respectively. If the total amount of money in the bag is Rs.210, find the
number of coins of one-rupee. /& Jd H ¥.1, 50 TH TYUT 25 T & Ry Ft I HAw:
5: 6: 8 % 3JUTd | 81 af¢ AA A paa AR F. 210 B, A %.1 & Ryap! o) W= 719 BT

1. 105
2.104
3. 106

4,108

Correct Answer :-

« 105



When was the scheme of Ashrama Schools in Tribal Sub-Plan Areas
launched? / SASTAT SU-TTSAT &1 & A fA=merdt &7 FISAT el s FovaT 13m?

1.1990-91
2.1991-92
3.1992-93
4. 1993-94

Correct Answer :-

« 1990-91

12) DIRECTIONS: Find out missing number from the figure given below./

foré=r: - & wit srefar ® g TRem ga S

1.21
2.25
3.35

4. 45

Correct Answer :-

« 25

13) Which of the following schemes was launched on the occasion of the
birth-anniversary of J P Narayan? /% & & S99T IrS471 & I ATXE0T 3 S=H-ATIUhT
Aok 9T ey FohaT 1T a2

1. MGNREGA / g9
2. Swachh Bharat Abhiyaan / &= AT AT
3. Saanjhi / |f=AT

4. Pradhan Mantri Aadarsh Gram Yojana / T&m= =Y smast a1 Tis=T

Correct Answer :-

« Saanjhi/af=ft

14) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ ﬁ%ﬂ: ﬁ'ﬂﬁf@ﬁﬂﬂﬁﬂﬂﬂﬁﬁﬁl%’ ) & R



TR SRTHIT DI HT AT TT ?

{(52.02)2 - (34.01)2 } + 17.99 x V72 1720
1. 400
2. 200
3. 250

4. 625

Correct Answer :-

« 400

15) DIRECTIONS: Choose the missing terms out of the given alternatives./

fordar: fog e fawedl & @ g uel @t q1a #¥ |
_bb_c__bg_b__g

1.cbgbc

2.cgbchb

3.cgbcc

4.gbcbb

Correct Answer :-

e« cgbchb

16) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / fodan: frafafad uy o usars e ) F
TR T DI T A T2

V3100x /567 =/250=7=+8

1. 610
2. 670
3.770

4.750

Correct Answer :-

17) DIRECTIONS: Select the answer figure in which the question figure is

embedded./ fA3%T: 98 IWR e F1d SR orad uy npfa AT 81



Question Figure,/ G951 HrBfoY

7

Answer Figure /3713 m
L N
A B C D
1. A
2.B
3.C
4.D

Correct Answer :-

« C

18) Raman starts from point P and walks toward South and stops at point Q.
He now takes a right turn followed by a left turn and stops at point R. He

finally takes a left turn and stops at point S. If he walks 5 km before taking
each turn, towards which direction will Raman have to walk from point S to

reach point Q? / Y0 P fag ¥ gférur fazn & gaaa= fig Q W T&ar 71 3UF a1¢ 98 g
IR 5 918 gea fiig R IR THdT §1 3+d: 98 I8 YSa 4g S W I odl g1 3R T§ &%
IR g3 A ugd 5 forrlt 9an gt ot fig s & g Q a& ugan ¥ forw vw= =Y fopw fo=m & 9am
ggT?

1. North/3«iR
2. South/cfemor
3. West /UT\%I'JZI

4, East/QIJc

Correct Answer :-

19) Since which financial year has the Backward Region Grant Fund
Programme been delinked from budgetary support? /&9 & fa<fizx o ¥ fger a
aTd AT FTAFHT T TSET AZAAT | STAT L (AT TAT?

1. 2012-13

2.2013-14
3.2014-15

4, 2015-16



Correct Answer :-

« 2015-16

20) Which of the following is the world's largest and most unique outreach

programme? / %5 & § F99T 14T 357 7 99 987 UF 999 JqI6 1 ST Frawy g?
1. Rashtriya Bal Swasthya Karyakram / T8 aTeT TaTe2q 1050

2. Integrated Child Development Services / a9fead aTer fareTe FrmET

3. Integrated Child Protection Scheme / TR aTer HL0T FTSTHT

4. Kishori Shakti Yojana / fren<y erf<r Fretm

Correct Answer :-

« Integrated Child Development Services / @Rfad aTer AT TS

21) The difference between compound interest and simple interest on a
certain sum for 2 years at 4 % per annum is Rs.1. Find the sum./f&t qaYq
TR Tohgies SaTST TUT ATYROT TS BT SR 2 U A 4% Ufaay St R A 1 F. 1 AU 91d
Ead

1. Rs.600/%.600
2. Rs.625/%.625
3. Rs.560/%.560

4. Rs.650/%.650

Correct Answer :-
e Rs.625/3%.625

22) How many triangles are there in the given figure?/ ﬁﬁmﬁﬁ‘lﬁﬁﬂﬁ
=T frat 82

1.5
2.6

3.8

4. None of these/%ﬁﬁ@ﬁ'ﬁcﬂﬁ

Correct Answer :-



« None of these/sﬂff?rﬁ'scq'eﬁ'

23) DIRECTIONS: Study the following pie chart carefully to answer the
question given below. / fer: fFafafaa urg aré &1 waryd® sreaa= o7 - g e uy
& I qiferg|

The given pie chart shows the distribution of a family’s monthly budget (in

degrees)./ 3 TS Urs-a1d Us Uf¥aR & ATRYS T guic & (F&lt #) guifar 21
Total monthly expenditure/ $d e ad= 25,000

Other expenses)

H== W, 54

il

Education/f3em, 72

Travelling/TT=1, 54¢

Entertainment/

]:,:ni;':r’ 3fe Fnﬂde‘lﬁ"‘\'T, 1442

Find out the difference between the expenditure on education and
entertainment (in Rs.)./ FRI&T U1 AR W W BT 3R J1d B3 (3. H) |
1. 3000

2. 2500

3. 3500

4. 4500

Correct Answer :-

« 2500

24) What is the full form of SIM? / R &1 TR 0 82
1. Subscriber Identity Module/JsthIseR 3fSefce] Al
2. Searching of Identification Module/ i s smssfefthoereH H'\I%ilﬁ

3. Subscriber Identification Module/ TSHHRER 3MTSSlchH A Al
4. Selection of Identity Module/ RidiaRM 3t 3gsfec! Aled

Correct Answer :-

« Subscriber Identity Module/IsaHhEaR 3fSefce! Hiegd



25) Which part of tooth is covered with enamel?/gd BT ﬁ?-m HTT gﬁﬁ?r A TrPT iﬁ?IT %?
1. Crown/ 134
2. Root/ {d

3. Dentine/ é%ls:l
4. All of these/ JuGad T

Correct Answer :-

e Crown/ oh13d

26) How many members are there in the National Commission for Women? /

TEHT ATRAT AT | o @2e7 g 872
1.4
2.5
3.6

4.7

Correct Answer :-

o« 7

27) In which year did the Ministry of Panchayati Raj constitute an Expert
Group with the task of assessing the IT Programmes of the ministry? /

GATAAT TS HATAT o o6 a9 § 9 HATAT & AT STATRIAT HTAGHT T AT HL Toh (A0
Y FT T5 [6AT?

1. 2004
2. 2005
3. 2006

4, 2007

Correct Answer :-

« 2007

28) Before 1978, the Right to Property was included under the Article - / 1978
& T& HUIT T ATARTE HITLTT % HIH Ao b Sqd rar AT?

1. 19(1)(d) / 19(1)(=)

2.19(1)(e) / 19(1)( =)



3. 19(1)(f) / 19(1)(=)
4.19(1)(g) / 19(1)(®)

Correct Answer :-

« 19(1)(f) / 19(1) (&)

29) Menstruation occurs due to-RTrﬁ 'ilfl Eﬂ—rlT %—

1. Decreased level of follicle stimulating hoprmone/ Y KRS CY GTHTd P HA Y
2. Increased level of luteinizing hormone/ ‘gﬁﬂﬁﬁﬂ _E?W % aafr @

3. Decreased level of estrogen and progesterone/ 3@@7{ TUT TSR D HH
4. None of these/ g:rﬁ[ q aﬁ's‘ q?)f

Correct Answer :-

» Decreased level of estrogen and progesterone/ 3@@7{ TUT Yo D HH!

30) To which of the following is the Hindu Succession Act, 1956 applicable? /
g STates srfafaaw, 1956 W% # & fora srf=eaT 9 @] grar &7

1. Follower of Brahmo Samaj / STg[T |91 & AaT

2. A person who is a convert to Buddhism / T# =< ST sitg oF § v g
3. Both of the above / 3Tk a1
4. None of these / za% & FIE A&l

Correct Answer :-

« Both of the above / 3T AT

31) According to the Child Marriage Act, 2006, a “child” is a person who has
not completed years of age if she is a female. / sta faaTg srfarf==w, 2006 *
AAT AIEATSH | “TTAH” T T § qg ATh ST ST Y g7 Tl g 2 |

1. 18

2.19
3.20

4. 21

Correct Answer :-



32) Which of the following diagram shows the Musicians, Instrument Players
and Violinist? /f=faf@a & & o9 W snpfa iftasrl, araeri iR arafer o aral
DI yeiid wdl g2

.©

Correct Answer :-

.

33) If 'Red’' is called 'Black’, 'Orange’ is called 'Yellow’, 'Blue’ is called
'violet', then what will be the colour of red blanket?/ ‘Clﬁ‘: ‘AT B BTAr bl
STl 8, IR, @1 dtdr ®gl Srdl §,Adr @1 ST S8 SIrdT §, 9 dTd S BT 39 R/
g2

1. Orange/aR M
2. Violet/dT

3. Black/hTdl
4. Blue/ el

Correct Answer :-

« Black/®Tdl

34) The speed of a car is 70 km/h. If the speed is increasing every 2 hours
by 2 km/h, in how many hours will the car cover 358 km? / T SR B Tfd 70
fomtfit/eer 31 afe o) 2 9 a1g a2 fefi/aR wg ot 8, @Y fopat o o oI 358 fomtft it gt 1 7
D2

1.5 hours/ 5 Te
2.6 hours/ 6 e
3.4 hours/ 4 Te

4. 8 hours/ 8 Te



Correct Answer :-

« 5 hours/ 5 Te

35) In the Indecent Representation of Women'’s Act, 1986, which of the
following is not included in “advertisement”? / wfg=sii ¥ stgfier whafafee (Fae)
sfer=aw, 1986 F Jqa FH & § FI4T fasew “Rem=” § 781 srun?

1. Notice / =ifeq

2. Label / &«

3. Wrapper / @9eq

4. None of these / =98 & #T$ 7!

Correct Answer :-

« None of these / Za® & FIE Tl

36) This address doesn’t change every day? / 9% Ug¥ & e =gl aqaar
1. Static IP address/ R MUt TaT

2. Dynamic IP address/ SO 33Ut Tal

3. Unique IP address/ 3ffgaid 3msdl Ud

4. Common name and humber / 9THTY dMH 3R AR

Correct Answer :-

« Static IP address/ Rfd® 3Msyl Udr

37) What amount of grant will be provided by the Ministry of Health and
Family Welfare which has made its respective block Open Defecation Free?
/ I SATH HT Gl | AT T JATH a7 GTHGTTAT TATEST 65 Rl TqTE A TRETL HedT0 G0
foraet TIPS SIETT Y&\ FGM?

1.Rs. 1 lakh / 1 <Tg =93

2. Rs. 5 lakh / 5 9mg =97
3.Rs. 10 lakh / 10 &It@ =97
4. Rs. 20 lakh / 20 g =93

Correct Answer :-

« Rs. 10 lakh / 10 91 =93

38) ABO blood groups were discovered by-/ ABO Y& HHg P! G DI-



1. W. Harvey/@')@j\gﬁef

2. Went/de =

3. Landsteiner/clS%IR A

4. Edward Jemer/@aéﬁ:ﬁ a

Correct Answer :-

e Landsteiner/ é‘sélqz ef

39) How do you rearrange the date in ascending or descending order? / 31U

T 3t ARG a1 3raRIE 9 § A YA aRT Fd 7?2
1. Data, table / SIqI, oS d
2. Data, sort/ SIcl, qic

3. Data, form / SIcl, BIH

4. Data, subtotals / SIcl, gecicay

Correct Answer ;-

« Data, sort/ SIcl, qre

40) Goiter is caused by the deficiency of:/ o I fraat ot | EﬁT‘IT %
1. Calcium/ B iY

2. Iron/ ?ﬁ%’[

3. Phosphorus/ IR RT

4. Todine/ 3MAIFST

Correct Answer :-

« Todine/ 3MAfST

41) Hormone controlling Basal Metabolic Rate is-/ 38R Jurgrft X Bl IGLE LS 3‘1’1=ﬁ'=r
1. Adrenaline/Q';f Afer
2. Thyroxine/YTRITRTA

3. Insuline/ $=gfer
4. Oxytocin/ SiaITCIRM

Correct Answer :-

« Thyroxine/ USRI



42) In order to pass an exam, a student is required to get 780 marks out of
the maximum marks. Akash got 728 marks and was declared fail by 5%.
What is the maximum marks of the examination?/@qﬁ&nﬁiﬁﬁﬁﬁﬁ%ﬁm
TS BT DI TUBHaH Yuife T F 780 3P UK H &I ATARADT 3| SATHT A 728 3 Ut
P 9YUT 5% 3i® | STl 81 T | W& &1 quife 1 82

1.1040
2.1100
3.1000
4. 1500

Correct Answer :-
« 1040

43) Which of the following is not true regarding the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? /
HIGATSN T FTAETT I A1k Icdte (Fareor, siaver s wiaai) s, 2013 gre=i fa a9
AT fawed Tgt 78l 872

1. It came into force in 2014, though it was passed in 2013 / =g sfafazw 2013 w Tl
ToRaT 7T o7, 9%=q 2014 H I AR g3

2. It lay the rules for constituting the Internal Complaints Committee / 7g s forrmaa
afafa &7 o7 F w1 Ao Tar g

3. Both of the above / 39k =T
4. None of these / Za% & FIE A&l

Correct Answer :-

« None of these / 5% & #T$ &

44) Which of the following is incorrect for F7? 9 & & #1991 F7 & forg ug) 1)

8?

1. To check the grammar/ IR dH B b ﬁ*ﬂ;f
2. To spell check/ WiHT TP B & 1%113

3. Both of the above /ETq?E[Tﬁ Sl

4. To close the window/ faUg] &g &3 & forw

Correct Answer :-

« To close the window/ faus! s & & forw



45) Which one of the following is not a search engine? / Fa & & 19 W1 &
@I $o 181 82

1. Bing/ fa

2. Google/ T[T

3. Yahoo/ dig

4. Windows/ IR

Correct Answer :-

« Windows/ IR

46) The Mahila E-Haat is a joint initiative of Ministry of Women and Child
Development and /a2« $-g1¢ AT Ua aTer fashra Harery 3ie FT EIF TRAE |

1. Ministry of Health and Family Welfare / Tame= 3T 9T Fedmor GaTe

2. Ministry of Human Resource Development / AT9a HaTaw fasma §amaT
3. Ministry of Skill Development and Entrepreneurship / #teret fasme i Sefaar @
4. Rashtriya Mahila Kosh / Trgi= |fgaT &re

Correct Answer :-

« Rashtriya Mahila Kosh / Trgir gfg«r o

47) How many awards are sanctioned per year under the National Overseas
Scholarship Scheme for Scheduled Tribes? / sIqg~a SASTAAT F M &+ a9 &
TE TATH STAGIRT FISIAT & T8 Tohae [SHT T ATHIET AT JTAT 52

1. 10

2.12
3.15

4. 18

Correct Answer :-

48) The average age of 12 players of a team is 25 years. If the captain’s age
is included, the average age increases by 1 year. Find the age of captain. /

12 fEarfeal @1 sivra 3myg 25 a9 B1 afe ww ot g &t ff wnfre forar i at eiva ey
1 99 9¢ STdl 81 FT B AT F1d PR |

1. 20 years/ 20 GL



2. 38 years/ 38 @Y
3.36 years / 36 G

4. 46 years/ 46 GL

Correct Answer :-

« 38 years/ 38 GL

49) According to the UN Convention on the Rights of the Child, a child means
every human between the age of 0 and /ETE Y ITA ATARTL TFAAT (Frai 9TT)
FATEROH FY F A A | AT AE T T gl SATAT B

1.12
2.15
3.18

4. 21

Correct Answer :-

50) In which year was the Commission of Sati (Prevention) Act was passed?

/ =<1 afafa (Tepam) srfarfRas feg o § arfa B wn?
1. 1987
2. 1988
3. 1989

4. 1990

Correct Answer :-

- 1988

51) In which year was the India Newborn Action Plan launched?/ {1 Ta<1d
FTF TIST S I F e F=ohgT e

1. 2012
2.2013
3.2014

4, 2015

Correct Answer :-



52) A reduction of 20% in the price of wheat enables a customer to obtain 8
kg more wheat for Rs.160. The price per kg of wheat before reduction was:/

I & god 7 20% HH 81 R UTe® 3.160 | 8 fopun aiftrr g @ urar 31 g A il g @
Tgd A &1 ufa fum ge ot

1. Rs.8/%.8
2. Rs.5/3.5
3. Rs.6/%.6

4.Rs.10/%.10

Correct Answer :-
e Rs.5/%.5

53) Which of the following option is true about the Prevention of Women
from Domestic Violence Act, 2005? / = a1 & HigHAT S<eavr sitertaae, 2005 qvaweft
e & & 9T fAweT 98t 82

1. Both mental and physical harm is included in this Act / =& sifaf@ Ty § w=fEe vd
o srogTte @A ATt €

2. “Child” here refers to person below the age of 18 / =® sfa=awW & “aTats” FT AT g 18 W
o FH IH T ATh

3. Both of the above / 393=F 1
4. None of these / za% & FIE A&l

Correct Answer :-

« Both of the above / 394 T=T

54) A drug that prevents infection and decay is called a/an:/Q?ﬁ SNuf S YpHUT B AP BT
ST Bt §, B Fod 32

1. Antiseptic/ W‘in

2. Antimalarial drug/ ufa gafvar siufy
3. Antipayretic/ SoRATRI

4. Analgesic/ m

Correct Answer :-

e Antiseptic/ i“llQ!él‘éﬁ



55) In how many total states and Union Territories is the Deen Dayal
Upadhyaya Grameen Kaushalya Yojana present? / ¥ a3Ter SUTeaT® ITH0r hierear
ST T Tohat TSAT T v AT AT § IUTEAT 872

1. 20

2.21
3.22

4. 23

Correct Answer :-

. 21

Topic:- Grad_Managerial Skill

1) Total quality managementis a oriented function:/ Fd U~ Ya ¢ Th Grf\‘l-l'ﬂﬁ

1. People/ AT

2. Quality/ TTuran
3. Production/ 3digd

4. None of these/%zl'ﬁf I ﬁ'st :l?ﬁ

Correct Answer :-
« People/ @I

2) Michigan Leadership studies are based on the following approach to the study of leadership:/

faRr Aqa rwae, Aga & g B 5 ugfa w snuta 82
1. Trait Approach/ T&ful UGl

2. Attitude approach/ a1 ggfa

3. Behavior approach/ dgR ygfd

4. Situational approach/aRIUfIog TG

Correct Answer :-

« Situational approach/aR TS TG

3) Language is important to society because:/ HHIS & ﬁfE YT HGETIUf % !

1. It makes social contact easy/ g JrATfoTp T 3T ST %

2. It raised man from a savage to a noble being/ ST A HI 3R W@Wﬁ%ﬂﬂﬁqm%

3. Itis an invention of society/ g THTS I Uh SAHR %



4. It easily satisfied man’s need of expression /g HI™ DI TG DI STaRIDAT DI TRl Rt ERGIN

Correct Answer :-

« It makes social contact easy/ I8 IS THD I S &

4) Which of the following is not a stage of the communication process?/ 3‘—|1?r ¥ SIF FAR ufsear
P TS T 81 82

1. Feedback/ Bsad (FAFARH)
2. Encoding / e (TAHIGT)
3. Channel selection/ TR (atlﬂ) g

4. Recipient/9Teied!

Correct Answer :-

. Recipient/mﬁav_cﬁ

5) “A social group is a system of social interaction,” Who defined so?/ g qig, GIEHIEED
SAThaT B TP YOI 37 g8 Uiy BRI &1 WY <t

1. H. M. Johnson/ Td. TH. W&
2. Marshal Jones/ I S

3. Bogardus/ GRS

4, Simmel/ﬁlﬁﬁ

Correct Answer :-

 H. M. Johnson/ Td. TH. Hi-9

6) Sociology is a science because it:/ JHGRIYE Th ICEIE] % Fife Jg__

1. Uses systematic methods/ gty Ay &1 IuanT Bl %

2. Is a social change/ % gHIS gRad %

3. Considers finding tentative until verified/ fp el & d9 do 3[fH A % Sld dob 39hT I 9 Epf Sy
4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3uad T+

7) The term sociology is coined in the year?/ THISRINT & 3wl Weg WO HY ad s |
el T YT:

1. 1798

2. 1829



3. 1839

4. 1818

Correct Answer :-

« 1839

8) When culture traits speed from one society to another the process is called?/ Sid Udh TS &
TIATFTS TEVT gOR AT | dolt | ST € o 39 UfehdT S T HgT ol 82

1. Assimilation/ W/@Wﬂw (U IR 1)
2. Diffusion/ faaRur
3. Pluralism/ 3% dIG/dgddlg

4, Evalution/qcdich

Correct Answer :-

« Assimilation/ STETITIHR 0T/ BT (TRITATIRM)

9) The Central Social Welfare Board was established in the year:/ %5 HHIS HeUIUT §IS BT
RITGT Y H ot it

1. 1980
2.1970
3. 1950

4. 1953

Correct Answer :-

e 1953

10) Which one of the following is NOT a principle of social group work?/ ERLE P IS

T B BT U Rigra T8 82
1. Confidentiality/ TGt

2. Guided group interactions/ HIIq 3 e GWTW
3. Progressive programme development/ s srieH e
4. Evaluation of the progress made by the group/dHg &RI P T TATI EIBIW

Correct Answer :-

« Confidentiality/ T

11) Social services will not include:/ graTfore darsi & PR T-I'(ﬁ'ﬁﬁ"ﬂ

1. Care for vulnerable groups / \’rlﬁ?fi\%lﬁ HT@WW&FUT



2. Care for weaker section/ Giﬁ&‘llcpd HHGIR T BT TRET
3. Care for affluent/ $FTdT T TRETTT

4. Care for needy/SRERAHG! BT TREUT

Correct Answer :-

« Care for affluent/ YaMI &1 TI&IUT

12) Effective speaking is depends on:/ WG YTYUT R Ak Frar 8:
1. Context of the oral communication / P TR & o
2. Prior adoption of delivery style / TG/ @sh & 1171: PR

3. Absence of feedback/ Ufdgf® @ srufRyfd
4. Identification of key points to put across / T X4 ST aTel T3 fag 3t &I uga™

Correct Answer :-

« Absence of feedback/ Ufgf® &1 srufufd

13) Which of the following is not an example of verbal communication?/ ?Fl'ﬁ ar EZ'IT%E/
AP AR BT TP ISEI0 31 82

1. Telephone / THI®BH
2. Words/ Rsg
3. Writing/ a1

4. Interview /&b R

Correct Answer :-

« Writing/ Ta4

14) Social insurance includes:/ 9o SATA__ mnfdar @
1. Pension/ BRI

2. Unemployement/ SRIGITRT

3. Disability allawances/ 3{Rladdl H

4. All of the above/Sudad It

Correct Answer :-

« Al of the above/3udad T+

15) The concept of “role” in sociology refers to 1/ THTSIRIA § "YfAhT" BT Sr@eRun &7 3
fraa g2



1. Position aspect of the individual/ fad &1 W[F@ﬂﬁ I s
2. Static aspect of the individual/ fad o1 Wfds Usq

3. Behavioral component of status/ %ﬁﬁiﬁ P HIER T e h

4. Normative aspect of behavior/IdgR &1 HHGIY UG

Correct Answer :-

» Behavioral component of status/ eRrad 1 suggR Tl ues

16) The book “The Sociological Imagination” is written by:/ “'¢ TRRAIGA A" IS
TP J foredt &:

1. Parsons/ URI-Y

2. Brewer/ 3R

3. Elliot/ Tlerge

4. Wright Mills/1s¢ foreg

Correct Answer :-

« Wright Mills/31g¢ foreg

17) Which of the following theories subscribes to the view that a shared culture is necessary if
a society is to run smoothly?/ ET-I'I?I J -9 R ELl foaR &1 Jud_ Far % & gurer &t AR
1 A TaM F e aren wwpla g1 Savaw 72

1. Marx/ ATRE
2. Mead/ s
3. Weber/ IR

4. Durkheim/ Q'@TI
Correct Answer :-

o Durkheim/ g@"‘n

18) The performance norm defines the level of H L'IE‘\’h HHP & TR B gRUIfE
ST 8

1. Work Effort & Attitude/eTi Jam Td 393
2. Attitude & Contribution Performance/ 393 3R TRTGH UG
3. Constructive Criticism/ YdITHD THTARAT

4, Contribution Performance & Work Effort/@"l’q"ﬁ TR 3R &1t uag

Correct Answer :-

« Contribution Performance & Work Effort/agH UegH 3R &1 Ta



19) The most common indicator of social class is:/ ATHINIE T BT HIA 3MH YhdP g:
1. Race/ STfd
2. Occupation/ a3

3. Education/ TRrem

4, Skills/PTTc

Correct Answer :-
e Occupation/ adg

20) When encoding the message, which of the following may be overlooked?/ TR HT Pls
(TTHIET) B THY STH § DI ToR 37T 81 JhdT 272

1. Language/ HMNT
2. Symbol/ Udidb
3. Sign/ dahd

4. Table/dTfereT

Correct Answer :-

o Table/dlfcrepT

21) Which of the following is the element of difference between community and society?/ s‘—n?r |
DI TGN R TUS & 9 F 3R HT UCP 2?2

1. Definite locality/ FI=erd SIFRICT/I
2. A group of persons/ Afaddl &1 g
3. Likeness of interest/ Tl & THFT

4. Sentiment of oneness/Ud 's’éh"rﬁ FEEIRICEI

Correct Answer :-

« Definite locality/ fA<ad Had/=d

22) The relationship in a secondary group is?/ fdia® Tyg & Tra=I 4T BT 82
1. Personal/ SfaaTd

2. Intimate/ 3=

3. Formal/ 3NUR®

4, Informal/&FﬁtlﬂTW

Correct Answer :-



« Formal/ 3=

23) Sociology is the study of:/ HHIGRIIRA __ BT YA %I
1. Socio-political institutions/ TTHTSTR-TT i T3t

2. Political system/ sTfde df

3. Human behavior/ HMd TdgR

4. Society/gHIs

Correct Answer :-

» Society/dHN

24) Horizontal system of communication takes place between or among:/ ¥ a9 AR

o1 &fast yorrelt Harferd i &:

1. Equal/ JHM @l

2. Superiors and subordinates/ IRE 3ffIBIRTT 3R 3refieif
3. Subordinates alone/ Had T

4. Superiors alone/ Had gy BRG]l

Correct Answer :-

« Superiors and subordinates/ aRE 3BT 3R et

25) What pair of making team decisions?/ 3 fAofg &9 &1 F19-a1 \‘rﬁS_T?
1. Lack of response & unanimity/ Gﬁﬁ?’m 3R HAFT BT 3T

2. Lack of response & minority rule/ Gi_jﬁﬂﬂ 3R egTTIs gw &1 31y

3. All votes are equal & recruitment/ ot 7d 9HH %‘ Td if

4. Feedback & unanimity/fagf® Td Ade

Correct Answer :-

« Lack of response & unanimity/ 33T 3R AART HT 3HTT

26) What is not one of the four important Manager roles?/ 398 @ 4, Ug=F P TR Tgaqul
yfrepTalf # | U TE 82

1. Supervisor/ THa&® (JURATZTR)

2. Facilitator/ PRd (1}7@1%1%??)

3. Internal coach/ 3T UfRI&H

4, External coach/dTgl uRies



Correct Answer :-

« Internal coach/ 3TN URI&®

27) Field work in social group work helps to acquire:/ GIEIEED ?l'lil\'s'a?l'!f T eaa $I'€f, 3ifofa
FH | TGN Bl 8

1. Knowledge/ I

2. Skill/ =TS

3. Attitude/ I3

4. All of the above/BTRi?ﬁ it

Correct Answer :-

« Al of the above/3udad T+

28) Social protection does not include:/ GIEIEED Jqr&n ﬁ'_
1. Food subsidies/ TTeI 3Mie TgTIAd

2. Public works projects/ e faTor gRasHg

3. Supplementary feeding/ TUR® 3R

4. Alms/aq
Correct Answer :-

e Alms/aH

29) Sociologist describe the term ‘Group’ as:/ JHSRIA] ‘g’ Xeq HI ¥ ¥q ¥ gfofa
A %

1. Collection of people/ @ & Tha
2. People involved in organized pattern of / 3f=ifdhal & Tfdd Te & Term At
3. People interacting at a place/ o wm WR srafdhar o= g At

4. Participation in a gathering /W wrr/wﬂa:r H YT o

Correct Answer :-

« People involved in organized pattern of / 3=fshaT & TIfdd Ue § Taw at

30) Social rights will not include:/ ImIfoi® SfYpRI A =mfdre 181 i
1. Child/ &=

2. Labour/ 4f8d/AsgR

3. Women’s rights/ Afgaisil & 3ftieR



4. Care for political sectionmx_rﬁﬁﬁ qqb T TRET

Correct Answer :-

« Care for political section/TSfdd dad BT TREUT

31) Welfare programmes based on social policy in India are not provided in one of the sector
mentioned below:/ HRd ® ArIfo® Hifd W smenfyd Heamor Hriepy i ga¢ ¢ A d Ue &7 § ugH
81 {5 o1d €1 98 P9-T1 87 32

1. Health/ WG
2. Entertainment/ ARSI
3. Employment/ AR

4. Education/ f2iefm

Correct Answer :-

« Entertainment/ ARG

32) Which of the following is not a perspective of communication?/ 3‘—n?r Y P AR BT Udh
uftvied =gt 82

1. Critical/ spifdes

2. Modern/ Y%

3. Post-modern/ 3TYfHH-U=aTd
4, Democratic/WIﬁT%

Correct Answer :-

« Democratic/USTdiA®

33) ICT is an acronym for:/ ICT &1 RT AH %:

1. Information Communication Technology/ stqv‘TﬁEH Wﬁﬁ?‘\’ﬂ eSSl GERIESEIN Iﬁ%ﬁﬁﬁ)

2. Information for Communicating Technology/ STHIHR IR WW SISl (AR PIEIAC] %‘g{ )

3. Information and Communication for Technologists/ THIHRH TS Wﬁ%‘«’ﬂ TR CHIamoReH (ﬁ?ﬂﬁﬁﬁ'ﬁ
QYo i T

4. Informants of Communication Technology/stqv‘Tﬁ?.[F 3 Wﬁw Tl (AR PIEIACIE:D BERIFG)

Correct Answer :-

» Information Communication Technology/ Wﬁ&’ﬁ Eb_ﬂgﬁw RCRINIR] CEEL YR Eﬁgﬁm

Topic:- Grad_RC_Managerial Skill



1) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁi’ﬂT: fFrrafafad e
P AFYED UgHR 39F -1 33 T4 sgfamadt w=ail § Odt fowew &1 997 31

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

g3 W AR 95 WA 21 S W &R o & Tt g T, el ok wesl # Suasy B1 faeiw
THERR, T HIH 31 g AISRI B Heg | Fe-ie A famrur frar o 9&dr 81 3rI-Sudiaarsi &t
$eIc AT A a1 WS P S WAl YTl (ISP) FEd 8| JIT, Se-ic Bl Awherdl B Hoit g1 gi-ar
WR A YA THT B & AT et &1 Wi fovan o aoar 81 3 A e, e, afgw,
TIFEduR, FIEX, AR, AR, e, W@mﬁwm&wﬁaﬁm%lvﬁﬂﬁﬁm
@ﬁﬁﬁ%ﬁnﬂawwmﬁaﬁ@ammélgﬁm%;rmwm TRPI¢ Td SRAd
3o W U § isds R I9d HiaTsd gRudR Menfifeal 9 36 (st dih) ok 46 (AR Widh)
3T 9 A FewHie JaT Ft fd & Aed i gfS g3 81 39 6 9 $© Adbs! H gHaT R & JUER fHa gad
T gt A Ot B TR Ft walfie Juias @ ver @1 31 g9 g & it s A §-a3a
(AT AT ey &1 Ifdrafiwon Je @ 81 T +3 AT Jwedur Suas § FFd e &
Tive Rad-ergw Hexr Yot 3R UTe o I d 81 89 5=t oft e Aivedar &1 Suaivt v s it eik
TrEfRRl A 919 R Thd § | AT WA Aedi s "igel W U= WA A I I8 aad 81 37 ifarg
T W I I gradia Wt Y Fod g1 HIRe AeafB urse g6 ga’l & a1y R aren A 3t gfaer oft
N T U T W AN & IR v Rrgel & A1y R Argn w1 wawa &1 AT A 37 Wi Aeafh T argel
W AUNRS g Wt F3 7 7

Which internet browsers discussed in this passage?/ 39 3J®¢ A f@d e TG 31 T4f Ht
it 32

1. Windows explorer/ ICEIS] QH?@W
2. Google/ T[T

3. Chrome/ P

4, All of the above/G'CIﬁ?ﬁ it

Correct Answer :-

o All of the above/BtIgTﬁ et

2) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fRafafaa e
P UFYED TgH? IT -4 &3 T sgfawadt wxal & wdt fape &1 991 $9|



Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥re W fIwRUr 95d IR 81 $ex-ie U & o1 & It wigE e, Hal ok e}l | Suasy 31 fasie
THEARR, T B 31 Feee ASTRI B Heg | Fe-ie H famRur frar o 9aar 81 3ra-Suaiaarsi &t
g AT A a1 WIS P Se3-Ic VAl YTl (ISP) FEd & | I, Se-ic Bl Awherdl BT Hoit g1 gi-an
WR Y YA THT B4 & AT e &1 Wi fohan o goar 81 3 A e, fafewn, aifgw,
AIFEAUR, FIEX, AR, Ao, e, m@mﬁmﬁwﬁaﬁm%lmﬁﬁm
@Wﬁﬁ%@wﬂawwmﬁﬁmmmél g & @it FHRER-u, 1@ Td SR
g W IUAH 71 FISaS 3R I Hiasd RuaR Menfifear ok 36 (st didh) ok 46 (At didh)
3T 9 A Fe-ie JaT $t 1fd & Aed i gfs g5 81 39 6 9 $© Adbs! § gHaT1 R & JUER fBa gad
T gt A Ot B TR $t Haltue Juras e e @1 31 79 g & foft it s A §-a3a
(AP AT Rey &1 Jfdrafiwon e @ 81 ¥Q +3 AT Jiwedur Suasy § PFd §ee &
WRT Rud-ergw wexr 4% 3R UTe o I &1 g9 Bt oft Afdr uitedur &1 Suaht s oA e ik
TrEfRRT | 919 R Thd § | AT WA AedipT Agel W U= W B I J8 ad 81 37 g
B W 3 I gradid W $R Tbd g1 IR AeafdhiT arse gl guRl & a1y fr argn w1 3t giaen o
M €1 39 Z W B F IR 3y et & A1y R Qe # God &1 AT dl 59 QA Aedfh drgel
W RS Wi W B2 @ 7

The key to success of Internet is the:/ g3 P Thadr B Hoil 8:
1. Information/ =T

2. Audience/ TI&TOT

3. Television/ cHlfde

4. Newspaper/JHHR-UA

Correct Answer :-

 Information/ -1

3) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
P UFYHD JegH U -4 &3 T gglawadt wxal & w6t faved &1 9g971 $3|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to



end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

g3 W AR 95 WA 21 S W &R o & Tt g T, e ok wesl # Suasy 81 fieiw
THERR, T HIH 31 Feve ASwRI B Heg | Fe-ie # famrur frar o 9&ar 81 3rI-Sudiaarsi &t
$eIc AT A T WS P S VAl YTl (ISP) FEd & | I, Se-ic Bl Awherdl BT Hoit g1 gi-ar
WR Y YA THT B & A et &1 Wi fohan o aar 81 3 A e, fafen, afgw,
TIFEAUR, FHYEX, AR, WM, firrdr, wdeq vd pradt nfafaftry @ wwaffa 8 wwdt 81 @ fafis
@ﬁﬁﬁ%ﬁwﬁawwmﬁaﬁ@ammélgﬁm%;rmwm URPE Td SRAA
$e3e W U F1 disds R I9d HiaTsd gRudR Menfifeal 9 36 (st didh) ok 46 (AR Widh)
3T 9 A Few-ie JaT Ft 1fd & Aed i gfS g3 81 39 6 9 $© Adbs! H gHaT R & JUER fBa gad
Tl gt A ot B TUR $t waltie Juas @ ver @1 31 g9 g & it s A §-a3a
(AR AT Ried &1 Ifdrafiwon Js @ 81 ¥ +3 AT Jiwedur Suas § PFd e &
Tfve Rad-ergw Hexr Wot 3R UTe o wad €1 89 Bt oft e Aivedar &1 Suaivt e s it 8ik
Trafrl | 919 $R Thd § 1 AT WA Aedi s Agel W U= WA A I I8 od 81 37 ifarg
T W I aradia Wt FY od g1 HIRe Aeafh urse g6 gkl & a1y R aren A 3t gfaen oft
N T U G W A & IR v Rrgel & A1y R Aren w1 wba &1 AT A 37 We Aeafh T argel
W AUIR® Hie ft F3 7 &

Which information is collected from around the world?/ gﬁfCIT W A Bi-0 I ThA B e %?
1. Education/ f2rem

2. Medicine/ fafder

3. Literature/ Iifed

4. All of the above/Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

4) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fRuferfad e
P UFYHS JeHY IU -4 &3 T ggfawadt wxal & w8t faved &1 9a1 $3|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,



entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

Fe¥A¢ W fIwRUT 950 WA 81 S TIHT & % & It g i, el 3R e’y # Suasy 31 fasiw
THRARR, TETA 1 fS Seve ATSTRI DI Hag | Fe-ic § faavor fovar o Jar 81 3rd-Suataanaif &t
$C NaT A T WIS P $e3-Ic VAT YTl (ISP) FEd & | I, Seic Bl Awherdl BT Hoit g1 gi-ar
WR Y FIAY THT B & AT et &1 Wi foban o aoar 81 3 A e, e, afgw,
TIFEAUR, YR, AR, WM, fierdr, vdeq vd pradt nfafaftry @ awaffa 8 wodt 81 @ fafis
@ﬁm%ﬁwﬁawwmﬁﬁmwmélgﬁm%WWW RS Ud SRAd
gee R U g1 Aisds 3R I HiaTsd RugR Mefifeai o 36 (At didh) oiv 46 (At didh)
3T 9M A FewHie JaT Ft 1fd & Ared i 3fS g3 81 3T 6 9 $© Adbs! W g1 R F guER fHa gwd
Tl gt A Wit B TUR $t walfie Juias @ vem o1 31 g g & it s A §-a3a
(SAFI AT ey &1 Ifdrafiw?on) 9e Iwd &1 T +$ AfT Jwedur Suas § PFd e &
Tfve Rad-ergw Hexr Wt 3R UTe o W d €1 89 Bt oft e Aivedar &1 Ui o v st 8ik
TSR} | 919 HR TP d &1 AR NS AeafdT dgel W v ®RA A A 9 9wd 81 39 e
T R T I araddia Wt FY Fwa g1 HIRa AeafB urge g6 gkl & a1y R aren A 3t gfaer oft
M &1 TGS W BN F SR 3= el & a1y R qrgn $ G&d &1 A dl 39 JIR Aedieh T drgel
W RS | ft 77 TR E

What is the full form of 3G?/ 3G HT RT -ITH HIT 3?2
1. Three generation/ 3 SFREA (1 digh

2. Third generation/ Y8 ST (IRt dieh)

3. Third group/ 43 U (cRRT T4E)

4. Three group/dt 4 (7 JHg)

Correct Answer :-

« Third generation/ ¥S S-RYM (IO} digh

5) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: faferfaa e
B AFYAP TgH IqP A &0 T ggfamedt uzAl | w6t fawey &1 99 $|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile



telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

g W fATRUT 9gd WA 21 e3¢ YT & o & T3t g i, el iR Wl # Suasy 31 fasiw
THREARR, TTA 1 AfS Feve ATSTR! B Heg | Feie § faavor fovar o Jovar 81 3rd-Sudiaarsii &1
geXAc JAT & AT WIS Bl eI Jal USHT (ISP) F&d @ | YA, Fe-ic &1 Ihadl Bt Hoit g1 giar
WR Y FIAE THT B & AT et &1 Wi fovan o Joar 81 3 A e, fafew, afgw,

A IUR, I, IR, Ao, fEar, wes vd prud nfafaftry & wafRa g 9t 31 @ fafte
@ﬁm%aﬂﬁﬁwwwaﬁaﬁ@ﬁmm%l T & auit THAR-1F, RS Ud SRAd
gee R IS 2 Aisds 3R I HiaTsd RUgR Mefifeat o 36 (st didh) oiv 46 (At didh)
3T M | Fewne AaT 3t 7fa & et 3fS g3 21 3T 76 9 $° Ads! W g1 R F guER fa e
Tl geie A Wt B TR B Faifie Auias QA yeq @1 21 g0 gar & Bt e A §-2a
(FAFRIT AT Rved &1 Jfdrafiewon I T@d 81 00 #3 AT Jvedur Suasy § FFd e-c &
wfve Rad-ergw Hexr 9t 3R UTe off I d €1 89 fHdt oft e Aivedar &1 3uah 3 v st 8ik
TR} | 919 FR P d &1 AR WA AeafdT dgel W 3 ®RA 5 A 9 9wd 81 39 e
T R T I graddia ft w3 wa g1\ AeafB arge g6 gkl &ty R aren w9 3t gy oft
0 21 89 QE W & SR S+ sl & ary R Argh &% Id &1 ATt 59 AR Aedidb Argel
W AUNRS i ft 73 @ T

There are many _______ that can be used to send and receive real-time messages over the

internet:/ THPHS____ IUAH g o Fexie & wINY Rad-ergd dexr Wet ofR urg <1 9ahd &:
1. Chatting software/ T WitedmR

2. Grouping software/ GftiT AlteddR

3. Internet software/ $CIIC HIHCAT

4. None of the above/SWRIad # ¥ BIs g

Correct Answer :-

« Chatting software/ TfTT TTedTR

6) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIﬁ"\’l: fFrrafeafad e
P! ATYED UgHY 39> - fed T4 agfawed! w=al | ugl fawey &1 99+ H¥|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about



the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

gevne W fIaRur 95d WRa 81 Fee T &R X & Wl W ial, Sl SR ekl | sy 71 fase
THEERR, T[T B 31 Feee ASTRI B Heg | Fe-ic H famrur forar o 9aar 81 3ra-Sudiaarsif &t
$exHIE Tl ¢ AT WS BT Fex-Ae Hal Vel (ISP) Fed & | GaHT, Sex-ic B Awadr &1 poi gl giar
WR Y YA THT B & AT et &1 Wi fbar o goar 21 3 A e, fafes, aifgw,
TIFEAUR, FIYEX, AR, TR, firrdr, wdeq ve pradt nfafaftry @ wwafRa 8 wwdt 81 @ fafis
@Wgﬁﬁ%@wﬂﬁrwwmﬁcﬁmwm%l a1 & @it FHRER-u, 1@ Td sRAw
$e¥e W U T Fisas SR I9d HiaTsd gRudR Menfifeal 9 36 (dt didh) oiv 46 (AR idh)
3T WM | $exAe AaT $1 1fd F Ared iy 33 g5 21 9T 89 U1 0 Abs! 8 AT W & ueR e awa
g1 getHe A Ol B TR $t Haltue Juas [ v @1 31 79 g & foft Tt s A §-a3a
(AP AT ey 1 Jfdrcfiwon I Twd 1 ¥Q #3 AT Jivedur Suasy § PFd eAe &
WRT Rud-ergw wexr 4% 3R UTe o I &1 g9 Bt ot Afdr Aiedur &1 Iuaht w3 oA e oik
Trafl | 919 HR Thd § | AT A Aedi b Agel W U= WH I I J8 dd 81 37 Targ
TR W 3 I Traid Wf HY Thd &1 WIRIe Aeai Age g6 guRl A1y R argn 31 B giyer o
M €1 39 ZH W B F IR 3y et & A1y e Qe # God &1 AT dl 39 QA Aedih drgel
W RS Wi W B2 @ §

How can the people connect with old friends?/ @HT g?ﬁ et d Fa s THd 82
1. Social networking sites/ TI=Td Acafd gel o

2. Social teaching site/ =T TR T3l o

3. Social learning site/ et AT ?ﬂ%ﬁ q

4. All of the above/ Iuad Tt

Correct Answer :-

« Social networking sites/ TIA Hedfch T TZel

7) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAaferfad wei=r
Pl ATYEP UgHY 9P - fed T4 agfawed] w=al | udl fawew &1 a9+ +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their



goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTER-U AHG-S1fd & g1 709 & nfaseprR & Ay fer gad #gM ik Iuahfl SusR 81 quER-
3 afet Y It & A SR T@dT 31 98 S99 gi-aT 1 geATe & IR A gRia vadr 81 98 59 FEl
e 81 98 T fFa=Imell SH¥AR A1eaW 3R U AfRIRITel 9 81 98 9 BT WP 3N AFATRIBRI
TG Wl &1 Uest 81 39 o did & g off wah faran < weran @ SR ¥ 1l & forw oft) ag famri &1
P 81 g8 fauary, Rrgr, 39 W &1 Tft fewforat & Barar 8, WeRY, @ ik 3991 nfafaftay
TUTARAT HT 81 g 59 T U TR 3aad g1 I8! PRI ¢ fF a8 oiar 1t Wadl 8 | JHER-
U3 gUR ¢ SitaeT &7 Sifid 3T 991 9 &1 THAR-UF g9 R S 3R fgxi F IR A R &
TUTER 341 8| GHER-TS $T UIe® Jrdei-1e ATHA & TUd § Igdl 8| GHER-UT J9 &1 &3 rarsi o
I Rfera wvar 8 ok 39 R IR FIAE UM ST 8 | FHER-UF UgA & I &1 fIsT gidr 31 599 g9
Tt T} St ok SfIshRI & IR T 99 TFHd &1 98 59 gUR ATUBRY 3R ITHT GRam FA Ft §
U6 IR | W IaTa1 81 399 79 W 33-9¢ Wt oI wand ¢ % gt | w1 g ¥e1 31 HHeR-uA |nn &Y
g & Wit fafie i 3 Wk | vaar 81 ARt ot axge 3t fawt sem & e wamemR-wt |
faqm= 33 81 9f% THrER-uA A IR @1 Ruid 1A §, $99 sl o fafte el § axgeil & qe
THIAM WA § Heg e 81 TeR-u aifife faua, @, wansi vd Wia & ar # R IR gEAne 3@
%ﬁwﬁmmmmélwwmmmmm%aﬁﬁhwm
3fold H YPpdT 81| THER-UF HeH faR®! 3R eRifAe! & faur g0 9@ @ €1 3 5H9d 3 3TPR 3 &
3R 39 ufefafraa #wa g1

What was invented with the help of printing machine?/ Ul =i &t Jeradr 3 fraeT enfaser
forar T ur?

1. Radio/ 3f&a

2. Television/ IESES

3. Newspaper/ 9HRIR-UA

4. All of the above/3Iudad Tt

Correct Answer :-

» Newspaper/ HARR-UA

8) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fRuferfad e
P UFYHD YegHY U -4 &3 T ggfawadt wxai & w8t fave &1 9a9+1 $3|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps



the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of nhewspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTEIR-UF UTHA-S1fd &) GEor 9049 & nfasp R & a1y frar ga 7g ik Suahfl SueR 31 WHER-
U AT Y ITANT & | S0 Gl ¢ | I8 S g1 &1 geTe & IR A i vEdl 81 9§ 599 Bl
3 81 98 U fFI=Imell SH¥TR A1ead 3R U WAfRIITelt 9 81 98 T BT WP 3N AFATRIGRI
TG TWa-adl BT U8l 21 39 3 pid & g o wah foran o wevdr g oiR R &1 & forg oft1 ag famm) &1
aE® g1 Ug far, Rigrl, 39 W 3t i} fewfdrat &1 Hramar 8, WeRY, d@h iR 391 nfafaftry #
U] BT 81 I8 SHd BT U RIS 3raud g1 98! PRI § P I S9a1 31 Wd—dl 8| GHRR-
T R & Sita &1 ST ST 991 g% &1 THER-UF g9 8AR o 3R faeei » SR A it vvr &
TJHNER 1 8 | GHER-T3] BT UIe® JTduie ATHA! & Jud § 3541 &1 JHRER-UT J19 31 $ rarsi &
32 Rufera wvar g ok 39 &R AR FIAE UeH ST 8 | SHER-UF UeA & 79 &1 e gidr 31 53 g4
T Tt Tieil SR SMfAPRY & TR W o9 Thd &1 T8 g0 guI SRBRI 3R ST JRa&m $a o3 @
9% IR | W Iara1 81 399 79 W 33-9¢ Wt 9 waa € % gt o w1 g ve1 31 HeR-uA | Y
gt & it fafim S 3 Wk & vaar 81 @R sroet axg e 3t fast sem & o waeR-wE |
fasT= 3a 71 9f% THER-uA A aeR 91 RUié g1 8, $99 sl o fafte wesl d axge & ge
THIUH TEA A Heg e 31 uremR-ux utfife faway, @e, wamsi vd wifta & IR # % 9t geme &a
& R Y F1 3mare Wt RIS Fear 31 FAR-UF &1 Frafia ure s e arHeal & 9R § e 9RT 94
Sfofa X Tpar 8 | THRIR-UF HeH AR 3R qRifA®! & AR 50 a@ @ 1 3 S 9d &1 PR a8
3R 3V wfafafaa s g

What is newspaper said to be?/ JHRR-UA P T HET STdl 82
1. A powerful media/ T QIfad=ITel HIETH

2. A useless media/ T S{JUTNT q1eqH
3. A boring media/ U ~IR¥ A14H
4. All of the above/ Iuad Tt

Correct Answer :-

« A powerful media/ T fqa=ielt Aread

9) DIRECTIONS: Read the passage and answer the questions that follow./fdzr: fRuferfad e
P YLD YgHY IU -4 &3 T ggflawadt wxal & w8t faved &1 9g+1 $9|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps



the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTEIR-UF ATHA-S1fd &) Ggur 909 & nfaspR & a1y frar gad 7e ik Suahfl SueR 31 WHER-
T T Y ITANT & | SR Gl ¢ | 9§ S g1 &1 geTe & IR A i vEdl 81 98 599 Fel
3 81 98 e fFI=Imell SHYTUR A1ead 3R U WAfRIRITeRt 9 81 98 T BT WP 3N AFATRIGRI
TG TWd-adl BT Uedl 21 39 3 i & g o wah forar o werdr g SR R &1 & fore oft1 ag famm) &1
e 81 g8 Ry, Rigr, 39 W &1 Tt fewfora) & Barar 8, WeRI, @ 3R 391 nfafaftay #1
TUTAAT BT 3| T§ T9d HT TP TR 3q4d g1 T8t PRI ¢ {5 Tg a1 &t Wadl 8 | GHER-
T R & Sita &1 ST ST 991 g% &1 THER-UF g9 8AR o 3R faeei $ SR A it vvk &
TJHNER 1 8 | FHER-T3] &7 UIe® JTdui—e ATHA! & Jud H Igd1 &1 JHRER-UT J19 31 $ rarsi &
32 Rufera wvar g ok 39 &R AR FIAE UeH ST 8 | SHER-UF UeA & 79 &1 e gidr 31 53 g4
T Tt Tieil SR SMfAPRY & IR W o9 Thd &1 98 g8 guI SRIBRI 3R ST JRa&m $a o3 @
U6 IR | W TaTaT 81 399 79 W 33-9¢ 2t oI wwa € % gt o w3 ve1 31 eeR-u | Y
g & ol fafie S 3 ok & vaar 81 @R sroet axg e 3t fawt sem ¥ o waemR-wE o
fasT= 3a 31 9f% THER-uA A aeR 91 RUié g1 8, $99 sl o fafte wesl § axge & ge
THIUH T&A A Heg e 31 JureR-ux utfife faway, we, wamsi vd wifta & IR & % 9t ge=me &a
& R Y F1 3mare Wt RIS Fear 31 FAR-UF &1 Frafia ure s e el & 9R § e 9T 94
Jffd H TP 81| THER-UF HeH RS 3R eRife! & fuR g0 @ @d €1 3 5H9d $ 3MPR 3 &
3R 39 ufafyfraa &4 &

Newspaper is avehicleof_ :/HHMR-UA___ PHIdlgh %:
1. Picture/ fU=R

2. Thought/ faaR

3. Money/ 44

4. All of the above/Sudad Tt

Correct Answer :-

« Thought/ fdTR

10) DIRECTIONS: Read the passage and answer the questions that follow. /321 fFafafaq
TN $Y ATYAP TP 39> - fed T4 agfaswed] w=al & 98l fawew &1 9= +3¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps



the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTIR-UF ATHA-S1fd &) GEor 9049 & nfasp R & a1y frar 9a 7g ik Suahfl SueR 31 WHER-
U AT Y ITANT & | R 7@l ¢ | 9§ S g1 &1 geTe & IR A Giud vEdl 81 9§ 599 Fel
3 81 98 TP fFI=Imell SHYTUR A1ead 3R U WAfRIITelt 9 81 98 T BT WP 3N AFATRIGRI
UG Wa~dl BT U8 81 39 S $1d & forw oft wah far o Tvar 8 3R R &1f & forw ot | ag fmmrY &1
e 81 g8 Ry, Rigr, 39 W &1 Tt fewfora) & barar 8, WeRI, @ 3R 391 nfafaftay 1
TUTAAT HIT 3| T§ T9d HT TP TR 3qTd g1 Tgt PRI ¢ {5 a8 a1 &t Wadl 8 | GHER-
T R & Sita &1 ST ST 997 g% &1 THER-UF g9 8AR o 3R faeei » SR A it vvk &
TJHNER 1 8 | FHER-TH] &7 UIe® JTdui-e ATHA! & Jud § Igd1 &1 JHRER-UT J19 31 $3 rarsi &
3 Rifera Hvar g ok 39 &R IR FIAE UeH Sl 8 | FHER-UF UeA & 79 &1 s gidr 31 53 g4
T Tt Tieil SR SMfAPRY & TR W o Thd &1 T8 g8 guI SRBRI 3R ST JRa&m $a &3 @
U6 IR | W TaTaT 81 399 79 W 33-9¢ Wt oI wwa € % gt o wn gt ve1 31 HeR-u | &Y
g & ol fafim S 3 Wk & waar 81 @R st axge 3t fawt sem & o saemR-wEt o
fasT= 3a 71 9f% THER-uA A IeR 91 Ruié g1 8, $99 sl o fafte wesl § axge & ge
THIUH TEA A Heg fradt 31 uremR-ux utfife faway, @e, warsi vd wifta & ar # e 9t geme &a
& R Y F1 31are Wt RP1S Fear 31 FAR-UF &1 Fafia ure s e el & 9R § e 9RT 94
Jffd H TP 81| THER-UF HeH RS 3R eRife! & fuR g0 @ @d €1 3 5H9d $ 3TPR dd &
3R 39 ufafyfraa s &1

The reader of newspaper remains in touch with : [ JHATEIR-U31 $T U6 P P Tudh A
@l 8

1. Peoples affairs/ AN & AW

2. Public affairs/ eI HHA!

3. Parties affairs/ Tiféat & Aar

4. None of the above/IURIed H § B1g el

Correct Answer :-

« Public affairs/ graoies A

11) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁ%‘\’l: frafafeaa
TR &1 AWHYAP UgH: 9P A fed T ggfawed! uxl o 9l fawed &1 99+ H31

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even



while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTAR-UF AHG-S1fd B GE0T 909 & MfaspR & a1y frar a9 7g 3R Suahil SugR 31 JHaR-
T fed Y IR & | SR TGl ¢ | I8 S g1 Bl geTe & IR A Giud vadr 81 98 59 Fel
3 81 98 e AfFa=Imell SHYTR A1ead 3R U WAfRIITelt 9 81 U8 T &1 WP 3R AFARIGRI
TG Ta-adl BT U8l 81 39 3 H1d & g o wah farar o wevar 3 Sk ¥ &l & forw oft1 s famr) &1
e g1 Te faary, R, 39 W @1 i} fewforat &Y amar 8, W Ry, @ ik 391 wfafaftrat &1
THIATEHT Hdl 8| T8 S Hd $T U TR 3aud 81 g€ PRI § fF g S-a1 &1 Taa-dT 8| JHER-
T R e Sita &1 AT ST 991 g% 1 TUAR-UT g9 gAR S SR fadmi F aR A it yoe &
TYHRER A1 8| GATER-T3] BT UIe® JIaui-e ATAA! & Jud § Igd1 &1 JHRER-UT J19 31 $3 rarsi &
I Riféra wear g iR I S IR FEATE UG BT 7 | THER-UF UgA I J9 $1 faH™ giar 81 399 g0
W Tt Gieil SR AP RY & TR § o9 Thd &1 T8 g8 gHI SARBRI 3R SAHT JRam $a &3l @
396 IR | W TaraT 81 399 79 W 33-93 Wt 9 wwa € 7% g o w3 ve1 31 weeR-u | &Y
g & Wt fafie i1 & wod | vaar 81 ARt Ut axge 3t fawl sgM & e saeR-wEt |
fammom 33 ¥ 9% THER-wH & aR #Y R @ §, T sraia o1 fafte 2 # axgel & qe
THHAM 1T H Hee e 81 TRR-u= uifife faua, @), sarsi vd Wifa & ar # 3R IR gEAe &
& iR Y F1 31are +ft RP1S Fear 31 FAR-UF &1 Fafia ure s e gl & aR § e 9RT 94
3ffa #X TFar 81 THRIR-UF HeH AR iR erifAe) & feR a0 9@ @ §1 3 59 &) PR a4 &
3R 39 ufafafraa wwa &

What do businessmen advertise on newspaper?/ YR THRER-UF § fhgeT ﬁTITCF-r a?f %”
1. Their news/ 3 JHRIR] BT

2. Their views/ 30 fIaRl &1

3. Their attitudes/ 3 I3TT BT

4. Their goods/ &ﬁaﬁ\’:ﬁ gl

Correct Answer :-

» Their goods/ 30t aﬁ&ﬁ DI

12) DIRECTIONS: Read the passage and answer the questions that follow./f332r: fFafefea
TR &1 AWHYAP UgH: 9P A fed T ggfawed! uxl o 9l fawed &1 99+ H31

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even



while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTEAR-UF AHG-S1fd B1 GE0T 9049 & faspR & a1y frar a9 7g 3R Suahit SugR 31 JHraR-
T fad Y IR & | SR Gl 3| I8 S g1 Bl geHTe & IR A Giud vEdr 81 98 59 Bl
3 81 98 e AfFa=Imell SHYTR A1ead 3R U AR 9 81 98 T &1 WP 3R AFAIRIGRI
TG Ta-adl BT U8 81 39 3 H1d & g o wah faran o wevar 3 3R ¥ &1l F forw oft1 s famr) &1
e g1 Ue faary, R, 39 W @) i fewforat &Y amar 8, e Ry, @R ik 3991 wfafaftrmat &1
THIATEHT Hdl 8| T8 S Hd $T U TR 3aud 81 g€ PRI § fF g S-a1 &1 Taa-dT 8| JHER-
T R e Sita &1 AT ST 991 g% 1 TUAR-UT g9 gAR S SR fadmi F aR A it yoe &
TYHRER A1 8| GATER-T3] BT UIe® JIaui-e ATAA! & Jud § Igd1 &1 JHRER-UT J19 31 $3 rarsi &
I Riféra e g iR I S IRT FEATE Y BT 3 | THER-UF U I J9 $T faH giar 81 399 gv
W Tt Gieil SR AP RY & IR # o Tbd §1 T8 g8 gHI SARBRI 3R IS JRa&m $a &3 @
396 IR | W TaraT 81 399 79 W 33-93 Wt 9 wwa € 7% g o w8 w1 31 gueR-u a6
g & Wt fafim i1 & wod | vaar 81 ARt Ut axge 3t fawl sgM & e saeR-wEt |
fammom 33 ¥ 9% THER-wH & aR $Y R @ §, T sraia o1 fafte wed # axgel & qe
THHAM T H Hee e 81 TRR-u= uifife faua, @), sansil vd Wifa & ar # 3R IR} gEAe &
& R Y F1 31are Wt RIS Fear 81 FIAR-UF &1 Fafia ure s e Al & 9R § e 9RT 94
3ffa #X TFar 81 THRIR-UF HeH AR iR erifAe) & feR a0 9@ @ §1 3 59 &) PR a4 &
3R 39 ufafafraa wwa &

Newspapers give a lot of information about religious topics and /AHER-UA enfife fawal
3R F IR # ¥ IR YEAE 3 &

1. Sports/ Wd®Ha

2. Arts / 3CH

3. Music/ Tid

4. All of the above/B'CRiTﬂ it

Correct Answer :-

« Al of the above/3udad T+

Topic:- Grad_Child Care and Education

1) Which of the following household materials helps children in home

based learning for creative activity?/ % & & &9 9t g IWRmi, TR
SR A Tt nfafafiry @ a= &t deg HRdl 22

1. Plastic covers, plates, containers, used papers, news-papers, straws/ AR hdy, l-ac, I &Q,

ST fHU gU ST, IR U3, diferai
2. Pieces of wooden materials/A@ s o T & TS
3. Glass materialsmw?[ CARIEE PRI




4. Broken pieces of electronic items/sadgmw dﬁjﬁﬁ & @% HIT

Correct Answer :-

« Plastic covers, plates, containers, used papers, news-papers, straws/ e hdy, l-aa, I &Q,

ST fHU gU SIS, JHER U3, diferai

2) Which of the following is formal guidance relating to child protection

work? /g # & 919 91 Nuarfye ARifes, aTd W& ST A el 82

1. Working together to safeguard child (2006)/3 &1 YR G- & T @R B HRAT
(2006)

2. No secrets (2000)/T9=gdT 9! (2000)

3. Every child matters (2003)/9d® &= Hgw@yUl § (2003)
4. Child probation: messages from research (1995)/aTd URdAI&T: ™Y & Y= (1995)

Correct Answer :-

« Working together to safeguard child (2006)/8 &1 JRI&d I@ & forw firds &1 BT
(2006)

3) Select the statement which best describes how primitive reflexes

are controlled:/ 98 Y= g ol Ya Ulaadl & (=01 &1 Jaiay afofd i &:
1. The gray area of the brain contains reflexes/ARTS® & U YT & ufdad 81d B

2. The midbrain controls primitive reflexes/d% ARTSH, Td Ufdadl ! HIRd Bl
&l

3. The cerebral cortex gives signals for reflexes to occur/IRed HIca (ARSI
degre), Hidadi & gfed §1F & forg Tohd ST g

4. Reinforcement by caregivers controls reflex activity/ STHTA amfaﬁmw,
gfaad nfafafy fAafd exar g |

Correct Answer :-

. The midbrain controls primitive reflexes/Ae] ARISH, T Ufdad! & AR BT
gl

4) In home based learning, the parent interacts with children. They

(children) learn:/ IR 3T ¥ Arar-fear, s=01 I siafbar H3d 81 9 @=) J@d
=)

1. To talk/dTd HRHAl
2. To draw/ﬁﬁﬂﬁﬁ%ﬁcﬂl



3. To paint the picture/fd I
4. To match the pictures/ = fi@amT

Correct Answer :-

« To talk/dld &l

5) Which of these is a misconception about heredity? /3TJafRi®dr & IR &
o & 3 St Y aRom 82

1. Heredity means that a person will not change/3TafRidar &1 3 g for aafad &
giRadH -Tg! oM
2. It is a waste of effort to try to influence a trait that has a strong heredity

component/ {3l TEd 3MTdfRIw g aTel 0T &1 THIfAd B &1 T s gial §

3. If a trait is inherited, it will have similar effects, who inherit it/afc ®Is 7T
3afRe B, ot favrad o vt fafae af oR ah wura S g

4. All of the above/3IURad g+t

Correct Answer :-

. All of the above/3WRIad G+

6) Which of the following human characteristics are determined by

genetics? /999 & 9 & A S19-7 &1 srgafiear gr1 Fufiva gid 82
1. Height/Gn\"'_tﬂ'sC

2. Skin colour/cdl &1 AT

3. Personality/w@k_q’

4. All the above/ISWRIad It

Correct Answer :-

« All the above/@ﬁﬁﬁﬂﬂ-ﬁ

7) Which of the following is an example of a Specific Learning

Disability?/ 9 # @ &4, vs ARy siftnma :2ramdr &1 3¢ 82
1. Mental retardation/ATRI® Hgd

2. ADHD
3. Dyslexia/fS&ifaaan



4. Autistic spectrum disorders/3fificResd WagH fadR

Correct Answer :-

. Dyslexia/fSxifama

8) A mild form of emotional disturbances is:/mmmmmmmm%:
1. Psychosis/IT8® IR

2. Autism/ 3iffesH

3. Schizophrenia/RISth =T

4, Neurosis/nilgﬁﬁlﬂ
Correct Answer :-

« Psychosis/IS®IR

9) One of the objectives of home-based learning is to:/ TRq 3fERTH &1

TP $Ga¥a ¢

1. Improve the overall developmental process of 0-3 year old children/ 0-3 ¥ &

i 1 U fasrard s ufdar & guR|

2. Improve the overall development of 20-22 years old/ 20-22 aﬁ%rrq%@ﬁf%
oY fdbr O gur

3. Improve the overall development of old age/ TUIdS AR & Y fdTd T YUR
4. All of the above/ IURI FHi

Correct Answer :-

« Improve the overall developmental process of 0-3 year old children/ 0-3 ¥ &

Sl o1 gaY fabraras ufehar I guR|

%0) Score IQ of mentally retarded children: /AR Gfed Tl &1 ST THIX BT

1. 80
2.90
3.65

4.70

Correct Answer :-

« 70



11) Home based learning is mainly:/ WWH@W@%;

1. To reach the child and family early in the Childs’ formative years/ﬁ%
IR fahrTe® auf & gRIM 9=  URaR ad e ugam

2. To reach parents/ HIdI-fudl deb Uga

3. To reach information to adults/ OB DI BRI UG Bl

4. All the above/ISWRIad It

Correct Answer :-

- To reach the child and family early in the Childs’ formative years/ S &
TR f[AHITHS a8 & SR gad g URAR adb s g o

12) Development is defined as:/fd®™ &1 39 YHR TR foaT Srdr 8:

1. The growth of humans from birth to old age/ S @q&ldaﬂ dod ua&i‘rﬁq@

2. An adding up of more knowledge and physical skill during the life cycle/\_:ﬂTﬂ
qh P GRM b J a4 3R e Fereran

3. A process of changing qualitatively and quantitatively with age/ aqu%mu
U 3R AR TRad o ufrar

4. A process by which mental and physical functions accelerate with age/ T®

wferan, forad TR SR Sfgw ufad- o & Tr @Rd gid &

Correct Answer :-

« A process of changing qualitatively and quantitatively with age/ 31’@%?”2{
USSR AR TRad- &1 dfar

13) When the children participate along with parents, to pour water
for plants they develop the concept of:/ El'q'aﬁ, Hrar-foar & 1y el ot
U 39 & &R} A ufaHmT B4 €, @ 3 A @R faela #vd 8:

1. Growth/df&
2. Development/ﬁw
3. Performance/ﬁmﬁ{:{

4. Colour/JT

Correct Answer :-

. Growth/dfg



14) The average age for the appearance of the first tooth is:/¥4¥ gid

e &t sia smg @

1. three months/di9 T8

2. seven months/dTd HgH

3. twelve months/aRg HgH

4, eighteen months/3/3RE s

Correct Answer :-

. seven months/aTd a1

15) In home based learning, as the parent read stories to children,

they learn:/ IR 3 ¥ Ara1-fUar =0 &1 14T UgH: A 3, 3 Ihad &
1. To read/de & forg

2. To draw/ﬁﬂl?ﬂﬂﬁ%ﬁm

3. To write/feRan & forg

4. To imitate/3fI®HR0I HH & forg

Correct Answer :-

. To read/de & fa@

16) As the conversations are more at home, the children learn: / WH

qIdtaTy g+ IR 9= Wi 8

1. Reservations/3{IR&UT

2. To develop language skills/HTST &t BRI fadRid HAT
3. To go out/dIgR Sl

4. To explore more/&mmm

Correct Answer :-

. To develop language skills/HTST BT HRIcTd fahRId HIAT

17) Early manifestation of symptoms such as severe impairment in
social interaction and in communication can be diagnosed in which of



the following?/ TTHIN® 3idfshar MR TOwor A 1R arem S deon &1 =iy
few, g & 9 fpaeT ddbd AFT oI IHar 82

1. Infantile autism/=Tdt T (3MesH)

2. Infantile amnesia/R2re Wfaa (TR
3. Cerebral palsy/JH%Th °Id (IS IR

4. Rett's syndrome/<c &1 RigH

Correct Answer :-

« Infantile autism/‘ﬁ?l’qp[la?ﬂﬂ?ﬂ (Gm??q)

18) All of the following except one are CD4* cells:/ fosft ts & Ryarg v o
CD4* BIPIY &

1. Mono cytestﬂ:ﬁﬂ}f Fﬂ%éﬁ

2. T-helper cells/T-geUR DIRIBIY

3. T-cyto toxic cells/T-T1gel TlRIh HIRIBIT

4. Macrophages/ah oy

Correct Answer :-

« T-cyto toxic cells/T-HTSc! TlieRId P IRIBTY

19) Home visitors give importance to children and the families and

hence they have the feeling of:/$® W FgH! gRI I R IRART HI
Hed T o W = | o argyfa €t &

1. Severity of sense of security/IR&M BT SIHf DT TR
2. Highly successful/3= b ddl
3. Energetic/E\_ﬂi

4. Eagerness/3gdhdl

Correct Answer :-

. Severity of sense of security/gR&T &1 IYfd BI THRar

20) Early childhood education scheme for 3-6 years age group functions

under?/3-6 31 I ¥Y SMRFUF STearawyr R Ao, frad sreh= wanfea 282
1. Sarva Siksha Abhiyan/ 9d fRref 3if¥am
2. Rajiv Gandhi education programme/ Toita el e arer



3. Universalization of Elementary Education/ U I fQT&HWFI‘ﬁlﬁTﬂWUT
4. Sishu Vidya Yojana/ R fa=m arer

Correct Answer :-

. Universalization of Elementary Education/ U4 & o1 ardyiieur

21) What provision provides the local authority's key duty to investigate
suspected child abuse?/ ®I- 9T WITUH, 1A gaiagR & Tiery ATHA! 3t &g & forw
R wifietiyal &1 v sdaa freffya sar 82

1. S.31 Children Act 1989/ S.31 &Td 3{f&faH 1989
2. S.47 Children Act 1989/ S.47 §Td i~ aH 1989
3.5.17 Children Act 1989/ S.17 §Td {faf<gH 1989
4.S.11 Children Act 2004/ S.11 §Td 39T 2004

Correct Answer :-

« S.47 Children Act 1989/ S.47 Tl 3{faf~aH 1989

22) The home visitors should have:/™Rq 3 g ATRT:
1. Good enough in bilingual/3/= fgHTsh

2. Legible writing/&%ﬂﬁw

3. Clear speech/30¥ dddl

4. Clear expression/¥q¥ Sfyeafad arat

Correct Answer :-

. Good enough in bilingual/3i=s fgHTdt

23) During home based learning, children experience the development

of:/ TR 3UTT & SR 7= 9 & fae™ & wahT #3d &
1. Concepts/d Ul
2. Colour/3T

3. Growth/q@
4, Reservations/3{IR&01

Correct Answer :-

« Concepts/dh Ul



24) The confirmatory test used to diagnose AIDS is:/ U849 (AIDS) & fgM 89
Tge Y wdtemn g

1. ELISA
2. Western blot/ A sl
3. ESR

4. PCR

Correct Answer :-

« Western blot/ e sAle

25) Which one of the national organization gives health and nutritional
service to children?/f 8 & & 319 A1 WP W64, T S WIRA 3R W91 Far¢ ygH
BT 82

1. UNICEF
2. ICCW
3. WHO

4. FAO

Correct Answer :-
« ICCW

26) Integrated Child Protection Scheme was launched in which year?/ T&igpd
A HREUT TIoTAT foh oy &) @1 152

1. 2009-2010
2.2012-2013
3. 2005-2006
4. 2008-2009

Correct Answer :-
« 2009-2010

27) During the infant's first year, one is definitely struck by:/ ﬁ’l"{[%
9YH 94 & SR, g8 A Tu A gar s:

1. The lack of growth patterns/q@aﬁw YT



2. The way we've been able to pinpoint the exact timing of each physical and

emotional event/ fS9 T8 89 TS IRING 3R HIGATHS e &1 Gl JHIHHT
NI FA A GeHEd B

3. The adult like proportions to babies/ RI[37 &1 qowh ST TAER 3T

4. None of the above/sﬂﬁ@rﬁgﬁ

Correct Answer :-

. None of the above/ 378 9 BIs T8l

28) CARE is engaged in school feeding programme for children under:/ CARE
e omg ot & S=if og TP A SR HTAHH JTford HdT 3:

1.6-16
2.3-6
3.6-11

4,10-12

Correct Answer :-

e 6-11

29) Which one of the following statement is INCORRECT?/ faddaH-
T Y TTAd 82

1. The fontanelles (softspots) on a baby's skuII require care full handling to
avoid injury to the brain/ AT &I dic Ugd | §ATd B o (01T Y & HUTA R
HicH (g YT Bt AAUFIYD G@HTA B DI SaRIDH T Bieh 6|

2. During prenatal development, the fetus receives oxygen through the
umbilical cord, but at birth respiration becomes an independent activity/

UIa-Ud far & GRM, TRy gy M- A1e o A1eqd § Sifeiior U &l ¢ fog Ud &
THY 4T T a7 Tafafy g o g

3. At birth cervix opens and then placenta/ U9d & I5Y R & gad Y SR AT I
gor aTa &% §g 81 ol 6|

4, The first fluid from the mother's breast (colostrum) and provides a laxative
effect as weII as antlbodles to d|sease/ﬂﬂ$lﬂ7ﬁﬁmﬂ?ﬂwm@?ﬁ@
AqSTd GRT Afhaargdd Tgul fa SITdT § 3R FHesTex WHTE & I1Y IFT UfoRiee e ot
UeH HRaT 8

Correct Answer :-

. At birth cervix opens and then placenta/ %¥d & T3 I & §&d A 3RT A1 &
g I 9% §g 81 ol 6|




30) One of the following is the most common cause of mental retardation:/

o o ¥ 14, 9rfe W ST Y99 GTH SR 8:
1. Diabetes in mother / Ararsii ¥ AYHg
2. Mental problems during pregnancy/ THIGRIT & SR ARG THW

3. Jaundice in mother/ Araref & difern

4. German measles in mother/ A3 & STHT HIoTed AR

Correct Answer :-

« Mental problems during pregnancy/ THITRT & R AR 9

31) The proper sequence of events during the stages of labor is:/Udd

B} ITRIT F SR geATS &1 S HH &

1. Cervical dilation, crowning, delivery, expulsion of the pIacenta/ﬁlaIWﬁvaFﬂ,
AT (13T, U, e d1eR b e

2. Amniotic sac breaks, crowning, delivery/TAGICH Ach BT WedT, ATd BT a6
a1, B3, Td

3. Crowning, amniotic sac breaks, cervical dilation, delivery/$3HT, TafFAIC®H
Aeft 1 WeaT, Urar &1 o, Uga

4, Cervical dilation, episiotomy, crowning, deIiver/tﬂ?ﬂWEbﬂﬂl, NETe

Correct Answer :-

« Cervical dilation, crowning, delivery, expulsion of the placenta/ﬁldlwav_cﬂT,
AU (SBT3, U9, ATd d1eR AeaT

32) Psychosis is a:/dTg®IA BT 8:

1. Profound disorder/ TR fa®R
2. Mild disorder/ ATel fddpR
3. Adopted disorder/ 3% ierd fddR

4. Moderate disorders/ Ae9H [d®HR

Correct Answer :-

« Mild disorder/ ATl fabR



33) The condition of new born babies is influenced by: /7 auiTda RIgaif Ht
<0 frad yuTfa ardt &

1. The process of birth/\_rﬁiraﬁm@[

2. The prenatal environment/ qu-qﬁ GIIERY
3. Both of the above/ISWRIad giHi
4. Eye, skin, & hair colour/ 3i@, =T 3R dTal &1 77

Correct Answer :-

. Both of the above/IWRIad GHI
34) Which of the following statements is false?/ 9 & Q P19 HY9 Tad 82

1. Some mothers prefer to bottle feed infant's because they work outside the

home/ $3 HAIATY, FauTd RIgs & didd ¥ go e € wife 3 TR & aer &1 ot §

2. Mothers who breast feed always have a better parent-infant relationship/

IO BRI aTelt ATdTef & SfHTaH-RIY] Yee ¥ Sgar 8ld &

3. Bottle feeding provides more opportunities for father-infant interactions/

Sad ¥ g foram ¥ frar-Rigy srafharsit 3 3ifie siowR firea &

4. Breast fed infants have fewer digestive problems;/ -4 &<+ dTal fRrgraff o
are Geieh THE H g §

Correct Answer :-

« Mothers who breast feed always have a better parent-infant relationship/

Y B arelt ATdrei & SifirHTae-RIg) dey 93d SgR 8 &

35) Which of the following is usually considered to be early childhood
development?/fA9 & A f5A Urg: RfH® SreuTawT fAe ™ A4 SITdT 82

1. Development from birth to age 8/ 8 a&f&rrqwﬁwm

2. Development from mental operation to formal thought/x’:ﬂTfiW qHRIP YareH

J MU= foaR emar a& fasr

3. Development from preschool years to the primary grades/¥bd qﬁﬁ@
TS Bl ab fasr

4. Development that begins with the child’s first step and ends with formal
operational stage of adolescence/S= & UYH TRUT T R B 3R fhREa=T &S
3R TrETE IR0 H AT g1 ardl f[asTy

Correct Answer :-



. Development from birth to age 8/SF1 ¥ 8 T¥ 31y de fdbI

36) When two or more words are put together to form a phrase or sentence,
it is an example of one of the following rules:/ 9§ aTai< IT 979 914 & fAC G
1 3P WGl B TP 1Y 7WT o1 8, o T8 1 ot #f | ve o1 Iqrarvr e:

1. Rules of phonetics/ @ JRd & a9

2. Rules of semantics/ Rsardf & a4

3. Rules of syntax/WﬁWﬂ%ﬁﬂﬂ

4. Rules governing by other organs/ 3{<1 I gRT IaTferd HaH

Correct Answer :-

« Rules of syntax/ ardd fa=mg & g

37) Which of the following is the main neurological birth syndrome caused by

anoxia?/ i # & ®14, TAIEaT gRT Icud Y& dfata o RighH g2
1. Down syndrome/@’l?ﬁﬁ@ﬂ

2. Fragile X syndrome/%Tgd o RigH
3. Cerebral palsy/JHRASh °1d (IS TIean)
4. Cerebral vascular accident/@WWm

Correct Answer :-

« Cerebral palsy/JHRIh °1d (IS GIQT)

38) The term socialization refers to:/ WTGﬂWWGIﬁ%:

1. indoctrinating children to existing standards/ S &1 HIS[al A & forg IRa
DAl

2. training children to be obedient/ S B BRI A & o TfReqor &1

3. the process of helping children learn the rules of their society/a?cﬁﬁ&fqer
THTS & FH] &1 S H Hag B &1 ufshar

4. leaching children to be socially active with other persons/ Sl &I 3= faqal
& 1Y ATHTSS =0 I Fiehd gi- o o1y o ST

Correct Answer :-

. the process of helping children learn the rules of their society/ S=i &1 3[d4
THTS & ™l &1 S T Hag B3 &1 ufdhar




39) Home-based learning also creates:/ Wmﬁ'ﬂlﬁmm%
1. Community awareness/STHal® SRREDHAl

2. Rural awareness/‘iﬂTﬁUTGmRWﬂ

3. Club-oriented/&Td JfHURTT

4. Youth-oriented/gaT 3{fHUROT

Correct Answer :-

. Community awareness/JMcIA% SITRedh T

40) Which act created the office of children’s commissioner?/ f&g sftfaw
SRT 979 g ug grora foar war?

1. The children Act 2004/ aTd 31fAfTH 2004
2. The children Act 1996/ ST HTIFTH 1996
3. The care standards Act 2000/ S&HTA A AT 2000

4. The children act 1989/ STd 3{fAIfTH 1989

Correct Answer :-

« The children Act 2004/ ST& fIFTH 2004

41) Which of the following is categorized as when the Children are distressed
by the absence of their parents, seek interaction but also reject it when

offered. /379 ATAT-FUaT & SmuRft sgagR (siafdhan) & sg® ot 9= S@! srquidfa o
W;ﬁ%wwmma?wsﬁmwéﬁﬁ = v Joft & var =
HHT 82

1. Secure disorganized/gxfard fagfea

2. Insecure resistant/ 3 Rfard PIGRECY

3. Secure resistant/ﬁ?f\&l?f PIGRED

4. Insecure avoidant/ SRR aRasHITd

Correct Answer :-

« Insecure resistant/\%iﬂ?f\&lﬁ PIRRIKED

42) Children mingle effectively with many people are:/ 3P AR | YHTL
ST IS H a8 T g &

1. Outgoing/afgyH!



2. Listening/%ﬁFIT
3. Communicate readily with everyone/Udd ¥ YUYUI 8 TR
4. All of the above/ITRIad Tl

Correct Answer :-

. All of the above/IWRIad G+

43) The most common condition resulting from chromosomal abnormalities

is:/ TURET THT-AATSH & URUTHTER=T SUH a4 HTHTT JHHT 8
1. Down syndrome/<r34 Riga

2. Hydrocephalus/gRSIRIhad

3. Sclerosis/ RN

4. Aperts syndrome/&rcl'cfﬂ ﬁl@'ﬁr

Correct Answer :-

« Down syndrome/Sr3 RigH

44) Which of the following is a form of child abuse that cause intellectual
disability?/ {9 & ¥ ®1 I1 U TSR T 91d gAdENR & Wl G A&TAT BT BRI T
ST 82

1. Shaken baby syndrome/Rid- st RigH

2. Abused child syndrome/&%ﬂﬁ@ﬁ@ﬂ
3. Battered baby syndrome/é?@gaﬁﬁﬁ@ﬁ

4. Damaged infant syndrome/@ﬁ%’sﬁv_{ﬁ@ﬂ

Correct Answer :-

« Shaken baby syndrome/R%+ s RigH

45) The IQ of trainable mentally retarded is between:/ ufreror gy HTARS
Hfed o=l 3T MY (IQ) frud Uy giaT 3:

1. 50 and 25/50 3R 25
2. 50 and 70/50 3R 70
3.10 and 25/10 3R 25

4. 60 and 75/60 3R 75

Correct Answer :-



« 50 and 70/50 3R 70



